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1. Choose the correct answer : 
\›¯õÚ £vø» ÷uºÄ ö\´¯Ä® : 
I. MBO is also known as management by results  
 SÔU÷PõÒ ‰»® ÷©»õsø© •iÄPÍõÀ ÷©»õsø© GßÖ®

AÔ¯¨£kQÓx 
II. MBO refers to superiors and subordinates jointly setting the

goals to be achieved by subordinates  
 ¦Ó{ø» ÷©»õsø© Gß£x ÷©»vPõ›PøÍ SÔUQÓx ©ØÖ®

RÌ{ø» AvPõ›PÍõÀ Aøh¯ ÷Ási¯ C»USPøÍ TmhõP
Aø©QÓx 

III. MBO does not require top management support  
 ¦Ó{ø» ÷©»õsø©US ÷©À {ºÁõP BuμÄ ÷uøÁ°Àø» 
IV. In the case of MBO progress is reviewed only at the end of the

year  
 ¦Ó{ø» •ß÷ÚØÓ® ‰»® ÷©»õsø© ÁÇUQÀ Bsk CÖv°À 

©mk÷© ©v¨£õ´Ä ö\´¯¨£kQÓx 

(A) III and IV only (B) I and III only 
 III ©ØÖ® IV ©mk®  I ©ØÖ® III ©mk® 

(C) I and II only (D) II and IV only 
 I ©ØÖ® II ©mk®  II ©ØÖ® IV ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. The objective, which helps the organisation to acquire and maintain
a positive public image is called 
ö£õx ©UPÎß uß ©v¨ø£ ö£ÖÁuØS® {ºÁõP® ö\´ÁuØS®, J¸ 
{ÖÁÚzvØS EuÄ® ÷|õUP®, GÆÁõÖ AøÇUP¨£k® 

(A) output objective (B) derived objective 

 EØ£zv ÷|õUP®  ö£Ó¨£mh ÷|õUP® 

(C) product objective (D) system objective 
 ö£õ¸Ò ÷|õUP®  •øÓ ÷|õUP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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3. A comprehensive managerial system that integrates many key
managerial activities in a systematic manner towards the
achievement of organisational and individual objectives is called  
{ÖÁÚ ©ØÖ® uÛ¨£mh ÷|õUP[PøÍ AøhÁuØPõP £» •UQ¯ {ºÁõP 
|hÁiUøPPøÍ •øÓ¯õÚ •øÓ°À J¸[QønUS® J¸ Â›ÁõÚ {ºÁõP 
Aø©¨¦ –––––––––– GßÖ AøÇUP¨£kQÓx. 

(A) Principles of management 
 {ºÁõPzvß öPõÒøPPÒ 

(B) Management by objectives  
 SÔU÷PõÒPÎß ÷©»õsø© 

(C) Organisation behaviour 
 Aø©¨¦\õº |hzøu 

(D) Qualitative and quantitative objectives 
 uμ©õÚ ©ØÖ® AÍÄ ÷|õUP[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
 

4. All organisations charts may be classified into 
AøÚzx {ÖÁÚ Aø©¨¦PÎß Áøμ£h® GzuøÚ ÁøPPÍõP 
¤›UP¨£kQßÓÚ 

(A) three broad categories 
 ‰ßÖ ö£›¯ ÁøP¯õP 

(B) two broad categories 
 Cμsk ö£›¯ ÁøP¯õP 

(C) one broad categories 
 JßÖ ö£›¯ ÁøP¯õP 

(D) four broad categories 
 |õßS ö£›¯ ÁøP¯õP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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5. The virtual reversal of top-down approach is called 
÷©¼¸¢x RÌ AqS•øÓ°ß ö©´{Pº uø»RÌ ©õØÓ® CÆÁõÖ 
AøÇUP¨£kQÓx 

(A) Bottom-up Approach (B) Top-down Approach 

 RÈ¸¢x&÷©À AqS•øÓ  ÷©¼¸¢x RÌ AqS•øÓ 

(C) Composite Approach (D) Team Approach 
 Tmk AqS•øÓ  SÊ AqS•øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

6. ‘Planning is deciding in the present what to do in future’ was
propounded by 
‘vmhªhÀ Gß£x GvºPõ»zvÀ GßÚ ö\´¯ ÷Ásk® Gß£øu 
{PÌPõ»zvÀ wº©õÛ¨£uõS®’ Gß£uøÚ •ßö©õÈ¢uÁº 

(A) Peter Drucker (B) Philip Kotler 

 ¥mhº mμUPº  ¤¼¨ ÷Põm»º 

(C) Koontz and O’Donnell (D) Newman 
 Tßmì ©ØÖ® K’÷hõÚÀ  {³÷©ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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7. What are the main characteristics of an effective control system? 
£¯ÝÒÍ Pmk¨£õmk Aø©¨¤ß •UQ¯ £s¦PÒ ¯õøÁ? 

(A) Flexibility, accuracy, timeliness and objectivity 
 ö|QÌÄzußø©, xÀ¼¯®, ÷|μªßø© ©ØÖ® ¦Ó{ø» 

(B) Flexibility, measurability, timeliness and objectivity 
 ö|QÌÄzußø©, AÍÂkuÀ, ÷|μªßø© ©ØÖ® ¦Ó{ø» 

(C) Flexibility, accuracy, relevance and objectivity 
 ö|QÌÄzußø©, xÀ¼¯®, ö£õ¸zu® ©ØÖ® ¦Ó{ø» 

(D) Flexibility, accuracy, timeliness and relevance 
 ö|QÌÄzußø©, xÀ¼¯®, ÷|μªßø© ©ØÖ® ö£õ¸zu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

8. Choose the right matches  : 
\›¯õÚÁØøÓ ö£õ¸zxP  
(1) Planning     –  Looking Ahead  
 vmhªkuÀ     •ßÚõÀ £õºUQ÷Óß  

(2) Delegation of Authority  –   Organisation   
 AvPõμ ¤μv{vzxÁ®    Aø©¨¦    

(3) Directing    –  Management  
 C¯USuÀ     ÷©»õsø©  

(4) Co-ordination    –  Checking the performance of 
subordinates  

 J¸[QønzuÀ    RÌ{ø» AvPõ›PÎß ö\¯À 
vÓøÚ \›£õºzuÀ 

(A) (2) and (3) only (B) (1) and (2) only  

 (2) ©ØÖ® (3) ©mk®   (1) ©ØÖ® (2) ©mk® 

(C) (2) and (4) only (D) (1) and (3) only 
 (2) ©ØÖ® (4) ©mk®   (1) ©ØÖ® (3) ©mk® 

(E) Answer not known 
   Âøh öu›¯ÂÀø» 
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9. In which order the following functions of the management are
performed? 
÷©»õsø©°ß ¤ßÁ¸® ö\¯À£õkPÒ G¢u Á›ø\°À ö\´¯¨£kQßÓÚ

1. Organising 
 HØ£õk ö\´uÀ 

2. Controlling 
 Pmk£kzxuÀ 

3. Planning 
 vmhªkuÀ 

4. Directing 
 ÁÈPõmkuÀ 

(A) (1), (2), (3), (4) (B) (3), (1), (4), (2) 

(C) (3), (4), (1), (2) (D) (3), (1), (2), (4) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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10. Match List I with List II and select the correct answer : 

£mi¯À I Ehß £mi¯À II I ö£õ¸zxP : 
 List I   List II 
 £mi¯À I   £mi¯À II 
(a) Unity of command   1. One  head one plan for a group  
 PmhøÍ JØÖø©   J¸ SÊÂØS J¸ uø»Áº vmh® 
(b) Unity of direction  2. Receive orders from only one   
     superior  
 vø\°ß JØÖø©   J÷μ J¸ E¯º AvPõ›°hª¸¢x 

PmhøÍ ö£ÖÁx 
(c) Scalar chain  3. Spirit of Loyalty and devotion  
 AÍÂhÀ \[Q¼   Â_Áõ\® ©ØÖ® Aº¨£o¨¤ß 

EnºÄ 
(d) Esprit de-corps  4. Communication flows from Top to 
     bottom 
 JØÖø© EnºÄ   öuõhº¦ ÷©¼¸¢x RÇõP £õ²uÀ 

 (a) (b) (c) (d) 
(A) 2 1 4 3    
(B) 4 3 2 1     
(C) 1 2 3 4    
(D) 3 1 2 4   
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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11. In what order do managers typically perform the managerial
functions?  
÷©»õÍºPÒ ö£õxÁõP {ºÁõP ö\¯À£õkPøÍ G¢u Á›ø\°À 
ö\´QÓõºPÒ? 

(A) Organising, planning, controlling, leading  

 JÊ[Pø©zuÀ, vmhªkuÀ, Pmk¨£kzxuÀ, ÁÈ|hzuÀ   

(B) Organising, leading, planning, controlling 
 JÊ[Pø©zuÀ, ÁÈ|hzuÀ, vmhªkuÀ, Pmk¨£kzxuÀ 

(C) Planning, organising, directing, controlling  
 vmhªhÀ, JÊ[Pø©zuÀ, C¯USÂzuÀ, Pmk¨£kzxuÀ  

(D) Planning, Organising, controlling, directing   
 vmhªhÀ, JÊ[Pø©zuÀ, Pmk¨£kzxuÀ, C¯USÂzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



385 – Business Administration 
 

10

12. Assertion [A] : Coordination is needed in all departments and at
all levels. 

TØÖ [A]   :  AøÚzx xøÓPÎ¾® AøÚzx ©mh[PÎ¾®
J¸[Qøn¨¦ ÷uøÁ 

Reason [R]  : Activities are independent in all departments and
levels 

Põμn® [R]  : AøÚzx xøÓPÎ¾® {ø»PÎ¾® ö\¯À£õkPÒ 
_¯õwÚ©õP C¸US® 

(A) Both [A] and [R] are true and [R] is the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® \›¯õÚx ©ØÖ® [R], [A] øÁ ÂÍUSQÓx   

(B) Both [A] and [R] are true and [R] is not the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® \›¯õÚx [R], [A] øÁ ÂÍUPÂÀø» 

(C) [A] is true but [R] is false 

 [A] \›¯õÚx BÚõÀ [R] uÁÓõÚx 

(D) [A] is false but [R] is true  

  [A] uÁÓõÚx BÚõÀ [R] \›¯õÚx 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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13. Which one of the following order indicates the correct logical order of
management functions? 
¤ßÁ¸® Á›ø\°À Gx ÷©»õsø© ö\¯À£õkPÎß \›¯õÚ u¸UP 
Á›ø\ø¯U SÔUQÓx? 

(A) Planning, Organizing, Co-ordinating and Control 
 vmhªhÀ, JÊ[Pø©zuÀ, J¸[QønzuÀ ©ØÖ® Pmk¨£õk 

(B) Planning, Control, Co-ordinating and Organizing  
 vmhªhÀ, Pmk¨£õk, J¸[QønzuÀ ©ØÖ® JÊ[Pø©zuÀ 

(C) Organizing, Planning, Control and Directing 
 JÊ[S£kzxuÀ, vmhªhÀ, Pmk¨£õk ©ØÖ® C¯USuÀ 

(D) Organizing, Controlling, Planning and Staffing 
 C¯USuÀ, Pmk¨£õk, vmhªhÀ ©ØÖ® £o¯õÍºPøÍ Aø©zuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

14. –––––––––––––– is the system of tasks, reporting relationships and
communication that links together the various parts of an
organization. 
–––––––––– Gß£x J¸ {ÖÁÚzvß £oPÎß Aø©¨¦, EÓÄPøÍ 
AÔUøP°kuÀ ©ØÖ® uPÁÀ öuõhº¦ ÷£õßÓ £À÷ÁÖ £SvPøÍ JßÓõP 
Cøn¨£uõS® 

(A) structure (B) staff 

 Pmhø©¨¦  FÈ¯º 

(C) decentralization (D) differentiation 
 £μÁ»õUP®  ÷ÁÖ£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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15. Which of the following is not a technique to determine fair day’s
work? 
RÌUPõs£ÁØÖÒ GøÁ {¯õ¯©õÚ |õÒ ÷Áø»ø¯ {ºn°US® ~m£® 
CÀø»? 

(A) Motion study (B) Time study 

 C¯UP B´Ä  ÷|μ B´Ä 

(C) Wage study (D) Fatigue study 
 Fv¯ B´Ä  ÷\ºÄ B´Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

16. A group of German and Australian administrators and thinkers
collectively called as  
J¸ SÊÁõP EÒÍ öáº©õÛ¯ ©ØÖ® Bì÷μ¼¯ {ºÁQ¨£ÁºPÐ® ©ØÖ® 
÷¯õ\øÚ ö\´£ÁºPÐ® TmhõP C¨£i AøÇUP¨£k£Áº 

(A) Managers (B) Administrators 

 ÷©»õÍºPÒ  {ºÁQ¨£ÁºPÒ 

(C) Management thinkers (D) Cameralists 
 ÷©»õsø© ÷¯õ\øÚ¯õÍºPÒ  ÷P©μ¼mì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   385 – Business Administration 
  [Turn over 

13

17. Match the following : 
RÌPshÁØøÓ¨ ö£õ¸zxP. 
(a) One head one plan   1. Henry Fayol  
 J¸ uø»ø© J¸ vmh®   öíßÔ L£÷¯õÀ 
(b) Scientific Management  2. Scalar Chain  
 AÔÂ¯À ÷©»õsø©   ì÷P»º ö\°ß 
(c) Principles of management 3. Unity of Direction  
 ÷©»õsø© öPõÒøPPÒ   ³Ûmi BL¨ øhμUåß 
(d) Gang plank   4. F.W. Taylor  
 S®£À £»øP    GL¨.h¤Ò³. öh´»º 

 (a) (b) (c) (d) 
(A) 3 4 2 1    
(B) 3 2 1 4     
(C) 3 4 1 2    
(D) 3 1 2 4 
(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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18. Choose the right matches : 
\›¯õÚÁØøÓ ö£õ¸zxP. 
1. M.R. Henry Mintzberg – Managerial   
 v¸. M.R. öíßÔ ªßmì  ÷©»õÍº 
 ö£ºU  
2. Mary Parker Follett – Management Thinkers Roles  
 ÷©›£õºUPº L÷£õö»m   ÷©»õsø© ]¢uøÚ¯õÍ›ß £[S 
3. Douglas Mc.Gregor – Management by Objectives  
 hUÍì G®] öμUPº   SÔU÷PõÒ ‰»® ÷©»õsø© 
4. Peter F. Drucker  – Management Thought   
 ¥mhº G¨. iμUPº                   ÷©»õsø© P¸zx 

(A) 3 and 4 are correct (B) 1 and 2 are correct 
 3 ©ØÖ® 4 \›¯õÚøÁ  1 ©ØÖ® 2 \›¯õÚøÁ 

(C) 2 and 3 are correct (D) 1 and 4 are correct 
 2 ©ØÖ® 3 \›¯õÚøÁ  1 ©ØÖ® 4 \›¯õÚøÁ  

(E) Answer not known 
 Âøh öu›¯ÂÀø»  

19. Match the following : 
ö£õ¸zxP 
1. Elton Mayo  – 1868-1933  
 GÀhß ÷©÷¯õ   1868–1933 
2. Chester I. Bernard  – 1906-1964   
 ö\ìhº I. ö£ºÚõºm    1906–1964 
3. Mary Parker Follett – 1880-1949  
 ÷©› £õºUPº L÷£õö»ºm  1880–1949 
4. Douglas-McGergor  – 1886-1961  
 hUÍì – ö©U›÷Põº  1886–1961     

(A) 1  3  4  2  (B) 4  2  3  1  
(C) 2  4  3  1 (D) 3  4  1  2 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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20. Which of the following scientific management is violation of unity of
command? 
¤ßÁ¸® G¢u AÔÂ¯À ÷©»õsø©, PmhøÍ°ß JØÖø©ø¯ 
«ÖÁuõS®?  

(A) Differential piece wage system (B) Fatigue study 

 ÷ÁÖ£mh xsk Fv¯ Aø©¨¦  ÷\õºÄ B´Ä 

(C) Functional foremanship (D) Simplification of work 
 ö\¯À£õmk L÷£õº÷©ßæ¨  ÷Áø» GÎø©¨£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

21. Which of the following are the principles of scientific management? 
¤ßÁ¸ÁÚÁØÔÀ AÔÂ¯À ÷©»õsø©°ß öPõÒøPPÒ ¯õøÁ? 
1. Development of science of work  
 ÷Áø» AÔÂ¯¼ß ÁÍºa] 
2. Standardization of tools and equipments  
 P¸ÂPÒ ©ØÖ® E£Pμn[PÒ uμ¨£kzuÀ 
3. Scientific selection of workmen  
 öuõÈ»õÎø¯ AÔÂ¯À §ºÁ©õP ÷uºÄ ö\´uÀ 
4. Co-operation between managers and workers  
 ÷©»õÍºPÒ ©ØÖ® öuõÈ»õÍºPÒ Cøh÷¯ JzxøÇ¨¦ 

(A) 1, 2 and 4 (B) 1, 3 and 4 
 1, 2 ©ØÖ® 4  1, 3 ©ØÖ® 4  

(C) 2, 3 and 4 (D) 1, 2 and 3 
  2, 3 ©ØÖ® 4  1, 2 ©ØÖ® 3 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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22. Why we have to ensure homeostasis in an organisation?  
J¸ {ÖÁÚzvÀ ÷íõª÷¯õìhõêì |h¨£øu GuØPõP EÖv ö\´¯ 
÷Ásk®? 

(A) To reduce costs 
 ö\»ÂÚ[PøÍ SøÓUP 

(B) To ensure self correcting measures  
 _¯ v¸zuzøu EÖv ö\´¯ 

(C) To ensure more profit 
 AvP »õ£zøu EÖvö\´¯ 

(D) To achieve organisational goals 
 Aø©¨¦ \õº C»USPøÍ Aøh¯ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

23. Type of group meeting in which members in their group role have 
been delegated to the authority to handle the problem at hand is 
SÊÂß EÒÍ GÀ»õ |£ºPÐUS® AvPõμ¨ ¤μv{vzxÁ® öPõkzx 
¤μa\øÚø¯ ^º ö\´²® SÊ. 

(A) Team (B) Committee 

 Ao  ÷uºÄ ö\´¯¨£mh SÊ 

(C) Core group (D) Composition  
 •UQ¯ SÊ  J¸[Pø©Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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24. Choose the right matches : 
\›¯õÚ ö£õ¸zu[PøÍ ÷uº¢öukUPÄ®. 
1. Command Group – Composed of the subordinates who

report directly to a common superior  
 PmhøÍ SÊ  J¸ ö£õxÁõÚ ÷©»vPõ›US ÷|μi¯õPz

öu›ÂUS® RÌ{ø» AvPõ›PÍõÀ BÚx 
2. Apathetic Group – Reacts to environmental demands

quickly  
 AUPøÓ¯ØÓ SÊ  _ØÖa`ÇÀ ÷uøÁPÐUS ÂøμÁõP

£v»ÎUQÓx 
3. Secondary Group – More formal, general and remote  
 Cμshõ® {ø» SÊ  ªPÄ® •øÓ¯õÚ, ö£õx ©ØÖ® öuõø»

yμzøuU SÔUQÓx 
4. In-Group  – Intimate, Face-to-Face association and 

cooperation 
 EmSÊ ö|¸UP©õÚ, ÷|¸US ÷|º öuõhº¦ ©ØÖ®  
  JzxøÇ¨¦  

(A) 1 and 3 are correct (B) 1 and 2 are correct 
 1 ©ØÖ® 3 \›¯õÚøÁ  1 ©ØÖ® 2 \›¯õÚøÁ 

(C) 2 and 3 are correct (D) 3 and 4 are correct  
 2 ©ØÖ® 3 \›¯õÚøÁ  3 ©ØÖ® 4 \›¯õÚøÁ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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25. A group of people are encouraged to generate and exchange ideas
without the fear of censorship. So it is called as 
uoUøPUS Ag\õ©À P¸zxUPøÍ E¸ÁõUPÄ® £›©õÔU öPõÒÍÄ® J¸ 
SÊÂÚº FUSÂUP¨£kQÓõºPÒ. GÚ÷Á Cx ————— GÚ 
AøÇUP¨£kQÓx 

(A) Brainstorming (B) Innovation 

 ‰øÍa\»øÁ  ¦xø© 

(C) Morphology (D) Creativity 
 E¸ÁÂ¯À  £øh¨£õØÓÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

26. Quality circle is a type of 
uμÁmh® Gß£x J¸ ÁøP ————— 

(A) Problem solving team (B) Cross functional team 

 ]UPÀ wºUS® SÊ  SÖUS ö\¯À£õmk SÊ 

(C) Self directed team (D) Project team 
 _¯©õP C¯UP¨£mh SÊ  vmh SÊ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

27. –––––––––––––– refers to the discrepancy between the defined role
and perceived role. 
————— Áøμ¯ÖUP¨£mh £[QØS® Enμ¨£mh £[QØS® EÒÍ 
÷ÁÖ£õk 

(A) Role conflict (B) Role ambiguity 

 £[öPk¨¦ §\À  £[öPk¨¤À öuÎÂßø© 

(C) Role identity  (D) Role expectations 
 £[öPk¨¤À Aøh¯õÍ®  £[öPk¨¤À Gvº£õº¨¦PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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28. Managers need to monitor not only the work environment but also 
their employees’ attitudes towards their life. This is done to ensure 
J¸ ÷©»õÍº uÚx £o¯õÍºPÎß ÷Áø» £õºUS® `ÇÀ ©mk® AÀ»õx 
AÁºPÍx uÛ¨£mh ÁõÌUøPø¯²® PsPõoUP ÷Ásk® Gß£x GuøÚ 
EÖv ö\´ÁuØPõP 

(A) Good work environment 
 ]Ó¢u ÷Áø» `ÇÀ 

(B) Good personal life  
 ]Ó¢u uÛ¨£mh ÁõÌUøP 

(C) Balance between work and life 
 ÷Áø» ©ØÖ® ÁõÌUøP Cøh÷¯ \©{ø» 

(D) Satisfaction between work and life 
 ÷Áø»US® ÁõÌUøPUS® Cøh÷¯ v¸¨v 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

29. This Reflects the rigidity of a person’s beliefs and openness to other 
view points 
uÛ|£º |®¤UøP°ß PiÚzußø© ©ØÖ® vÓ¢u ußø©ø¯ ¤μv£¼¨£x 

(A) Psychosomatic belief (B) Reflective personality 

 ©÷ÚõuzxÁ |®¤UøP  ¤μv£¼¨¦ BÐø© 

(C) Behavioural locus (D) Dogmatism 
 |hzøu Âv•øÓPÒ  ÁÓmk¨ ¤iÁõu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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30. Attitude is the persistent tendency to feel and behave in a
favourable or unfavourable way towards some object, person or
ideas. This definition given by 
©Ú¨£õßø© Gß£x ]» ö£õ¸Ò, |£º AÀ»x ]¢uøÚPÐUS \õuP©õÚ 
AÀ»x \õuP©ØÓ •øÓ°À En¸® ©ØÖ® |hzx öPõÒÐ® J¸ 
öuõhºa]¯õÚ ÷£õUS ÷©ØTÔ¯ Áøμ¯øÓø¯ TÔ¯Áº 

(A) Robbins (B) Reitz 

 Cμõ¤ßì  Ÿmì 

(C) Munn and others (D) Blum and Naylor 
 •ß ©ØÖ® £»º  ¦Í® ©ØÖ® |õ´»º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

31. The first stage of perceptual process involve is 
~s©õß ~ø»¦»® ö\¯À•øÓ°ß •uÀ {ø» Cøu EÒÍhUQ¯x. 

(A) Attention and Selection (B) Attention and interpretation
 PÁÚ® ©ØÖ® ÷uºÄ  PÁÚ® ©ØÖ® ÂÍUP® 

(C) Stimulus and logic (D) Attention and response 
 yskuÀ ©ØÖ® uºUP\õìzvμ®  PÁÚ® ©ØÖ® £vÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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32. The phallic stage develops at the age of 
L£õ¼U {ø» Gß£x —————— Á¯vÀ E¸ÁõQÓx.  

(A) First year of one’s life 
 ÁõÌUøP°ß •uÀ Á¸hzvÀ  

(B) Second and third year of a child  
 SÇ¢øu°ß Cμsk ©ØÖ® ‰ßÓõ® BsiÀ  

(C) Four years 
 |õßPõ® BsiÀ  

(D) Adulthood 
 CÍø©¨ £¸Á®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

33. “Perception is the process of becoming aware of situations, of adding
meaningful associations to sensations” – Defined by 
‘‘EnºuÀ Gß£x Aºzu•ÒÍ \[P[PÎß EnºÄPøÍa ÷\º¨£uØPõÚ 

`Ì{ø»PøÍ AÔ¢x öPõÒÐ® ö\¯À•øÓ¯õS®’’ & ¯õμõÀ 
Áøμ¯ÖUP¨£mhx.  

(A) Stephen P. Robbins (B) Udai Pareek and others 

 ìj£ß ¤.μõ¤ßì  Euõ´ £ŸU ©ØÖ® £»º  

(C) Fred Luthens (D) B. Von Haller Gilmer 
 L¤öμm ¿ußì   ¤.Áõß íõ»º QÀ©º  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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34. ———— is the sum total of an individuals psycho-physical systems 
that determine his/her behaviour in a given environment/situation. 
———— J¸ SÔ¨¤mh `ÇÀ/`Ì{ø»°À AÁμx |hzøuø¯
wº©õÛUS® J¸ uÛ|£›ß EÍÂ¯À&C¯Ø¤¯À Aø©¨¦PÎß
TmkzöuõøP BS®.  

(A) Perception 
 ¦›uÀ 

(B) Attitude  
 AqS•øÓ 

(C) Learning  
 PØÓÀ 

(D) Personality 
 BÐø© 

(E) Answer not known 
   Âøh öu›¯ÂÀø» 
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35. The personality measurement that measures the cognitive, conative
and affective aspects of personality structure is 
AÔÁõØÓÀ, P¸zv¯À ©ØÖ® AÍÂk® uõUP® BQ¯ BÐø© Aø©¨ø£ 
öPõsk BÐø© AÍÃk ö\´Áx Gx? 

(A) Thematic apperception test 
 P¸¨ö£õ¸Ò J¨¦uÀ ÷\õuøÚ 

(B) Rorschach ink blot test  
 ÷μõº\õa ø©PøÓ ÷\õuøÚ 

(C) Minnesota multiphase personality inventory  
 ªßÚ÷\õmhõ ©Ài£õ]U £º\Úõ¼mi CßöÁßh› 

(D) Sixteen personality factor questionnaire 
 £vÚõÖ BÐø© Põμo ÷PÒÂzuõÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

36. Belives, attitudes and feelings which are shared by group members
is called 
SÊ EÖ¨¤ÚºPÍõÀ £Qº¢x öPõÒÍ¨£k® |®¤UøPPÒ, AqS•øÓPÒ 
©ØÖ® EnºÄPÒ —————— GÚ¨£k®.  

(A) Group norms (B) Group communication 

 SÊÂß Âv•øÓPÒ   SÊ öuõhº¦ 

(C) Group cohesiveness (D) Group structure 
 SÊ JØÖø©   SÊ Aø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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37. Why should we adopt BARS? 
BARS&´ Hß Pøh¤iUP ÷Ásk® 

(A) To study various types of organization 
 Aø©¨¦PÎß ÁøPPøÍ £iUP 

(B) To study various levels of politics  
 Aμ]¯¼ß {ø»PøÍ £iUP 

(C) To study various levels of behaviours 
 |hzøu {ø»PøÍ £iUP 

(D) To identify different goals 
 £À÷ÁÖ C»USPøÍ Aøh¯õÍ® Põn  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

38. ––––––––––––––  lies on management’s building a feeling of
partnership with employees. 
—————— {ºÁõP®, FÈ¯ºPÐhß TmhõP ö\¯À£kÁuØPõÚx. 

(A) The Autocratic model (B) The custodian model 

 uÛÁÀ»õsø© ©õv›  £õxPõÁ»º ©õv› 

(C) The supportive model (D) The collegial model  
 BuμÄ ©õv›  Tmk ©õv› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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39. Arrange the following theories of attitude formation in chronological 
order : 
©÷Úõ£õÁzøu E¸ÁõUS® ¤ßÁ¸® ÷Põm£õkPøÍ Põ»Á›ø\¨£i 
Á›ø\¨£kzuÄ®  
1. Balance Theory  
 \©{ø» ÷Põm£õk 
2. Affective cognitive consistency theory  
 uõUP AÔÁõØÓÀ {ø»zußø© ÷Põm£õk 
3. Theory of cognitive dissonance  
 AÔÁõØÓÀ Â»PÀ ÷Põm£õk 
4. Congruity theory   
 JØÖø© ÷Põm£õk 

(A) 2, 4, 3, 1 (B) 1, 2, 3, 4 
(C) 1, 4, 3, 2 (D) 1, 4, 2, 3  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

40. Operant conditioning theory of learning establishes which type of
association between stimulus (S) and response (R)? 
PØÓ¼ß ö\¯À£õmk PßiåÛ[ ÷Põm£õk yskuÀPÒ ©ØÖ® 
£vÀPÐUS Cøh÷¯ G¢u ÁøP¯õÚ öuõhºø£ {ÖÄQÓx?  

(A) S →  R (B) R →  S 

(C) S →  S (D) R →  R 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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41. Which of the following is not a characteristics of business cycles? 
¤ßÁ¸ÁÚÁØÔÀ Gx ÁoPa _ÇØ]°ß £s¦PÒ AÀ»? 

(A) Recurrent in nature  

 C¯ØøP°À «sk® «sk® Á¸Áx  

(B) Periodicity 
 Põ» CøhöÁÎ 
(C) Regular  
 ÁÇUP©õÚ  

(D) Cumulative 
 Jmk ö©õzu©õP  
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

42. –––––––––––––– gives and indication of how well two variables
more together in a straight-line fashion.  
Cμsk ©õÔPÒ ÷|ºöPõsh öuõhº¦ \õº¤À Aø©¢v¸zuÀ 

(A) Multiple Regression Analyses 
 £» ¤ßÚøhÄ £S¨£õ´Ä 

(B) ANOVA 

 ANOVA 
(C) Linear Regression Analysis 
 ÷|›¯À ¤ßÚøhÄ £S¨£õ´Ä 

(D) Correlation Analysis 
 öuõhº¦\õº £S¨£õ´Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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43. Following are the methods of studying correlation : 
¦ÒÎ°¯¼À ‘öuõhº¦’ PoUS® •øÓPÍõÚx —————— BS®.  
(a) Scatter diagram method  
 AkUøP CÓUS •øÓ 
(b) Linear trend method 
 ÷|º÷Põmk ÷£õUS •øÓ 
(c) Concurrent deviation method  
 Ehß {PÌÄ •øÓ 
(d) Spearman’s rank correlation method  
 ì¤¯º÷©ß Ch® öuõhº¦ •øÓ 

(A) (a), (b) and (c) (B) (a), (c) and (d)  
 (a), (b) ©ØÖ® (c)  (a), (c) ©ØÖ® (d) 

(C) (b), (c) and (d) (D) (a), (b) and (d) 
 (b), (c) ©ØÖ® (d)  (a), (b) ©ØÖ® (d) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

44. While calculating or assessing the data accuracy of correct
predictions – 15 with the total number of population – 18, what is 
the Hit ratio? 
uμÄPÎß xÀ¼¯zøu Bμõ²® ö£õÊx, Auß \›¯õÚ Â£μ[PÒ 15 BP 

C¸US® £m\zvÀ, ö©õzu uμÄPÒ 18 GÛÀ, Hit ratio GßÚ? 

(A) 6.66 (B) 270 

(C) 83.3 (D) 3 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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45. If 0H  is true and the researches reject, it is called 

0H  Esø©, BÚõÀ A¢u Bμõ´a] {μõP›UP¨£kQÓx CuØUS ö£¯º  

(A) Type-I error (B) Type-II error 

 ÁøP-I ¤øÇ   ÁøP-II ¤øÇ 

(C) Standard error (D) Sampling error 
 {ø»¯õÚ ¤øÇ  ©õv› ¤øÇ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

46. If the value of any regression coefficient is zero, then two variables 
are 
G¢uöÁõ¸ ¤ßÚøhÄ SnPzvß ©v¨¦ §äâ¯©õP C¸¢uõÀ, Cμsk 
©õÔPÒ 

(A) Qualitative (B) Correlation 

 uμ©õÚøÁ  öuõhº¦øh¯øÁ 

(C) Dependent (D) Independent 
 \õº¦øh¯øÁ  _u¢vμ©õÚøÁ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

47. Regression equation is also named as 
¤ßÚøhÄ \©ß£õk ———— GßÖ® AøÇUP¨£kQÓx. 

(A) Prediction equation (B) Estimating equation 

 Po¨¦ \©ß£õk  ©v¨¤k® \©ß£õk 

(C) Line of average relationship (D) All of the above 
 \μõ\› EÓÂß Á›ø\  ÷©ØPsh AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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48. How many degrees of freedom should be used to apply chi-square 
test statistic on a contingency table, having 5 rows and 4 columns? 
5 Á›ø\PÒ ©ØÖ® 4 ö|kÁ›ø\PøÍU öPõsh uØö\¯À AmhÁøn°À 

øP \xμ (chi-square) ÷\õuøÚ ¦ÒÎÂμzøu¨ £¯ß£kzu GzuøÚ iQ› 

_u¢vμzøu¨ (degrees of freedom) £¯ß£kzu ÷Ásk®? 

(A) 20 (B) 12 

(C) 7 (D) 9 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

49. Type I error occures if 
———— GÛÀ ÁøP 1 ¤øÇ HØ£k® 

(A) The null hypothesis is rejected even though it is true 
 §ä¯ P¸x÷PõÒPÒ Esø©¯õP C¸¢uõ¾® {μõP›UP¨£kQÓx 

(B) The null hypothesis is accepted even though it is false 
 §ä¯ P¸x÷PõÒPÒ uÁÓõÚøÁ GßÓõ¾® HØÖUöPõÒÍ¨£kQÓx 

(C) Both the null hypothesis as well as alternative hypothesis and 
rejected 

 §ä¯ P¸x÷PõÒPÒ ©ØÖ® ©õØÖ P¸x÷PõÒPÒ Cμsk® 
{μõP›UP¨£kQßÓÚ 

(D) Increase the social status 
 \‰P A¢uìøu AvP›UQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



385 – Business Administration 
 

30

50. Given mean = 15.6 and median = 15.73. Find out mode 
öPõkUP¨£mhx \μõ\› (Mean = 15.6) Cøh°À EÒÍ (Median = 15.73), 
©õv› (Mode) Psk¤i  

(A) 15.99 (B) 15.30 

(C) 16.20 (D) 16.80 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

51. Stratified random sampling refers to a sampling design where the
entire universe is divided into groups or strata in such a way that : 
AkUS ^μØÓ ©õv› Gß£x J¸ ©õv› ÁiÁø©¨ø£U SÔUQÓx. A[S
•Ê ¤μ£g\•® SÊUPÍõP AÀ»x AkUSPÍõP ¤›UP¨£mkÒÍx : 
(I) there is as great homogeneity as possible with in each stratum  
 JÆöÁõ¸ AkUSPÎ¾® •i¢uÁøμ ö£›¯ J¸ø©£õk EÒÍx 
(II) as marked a difference as possible between the strata  
 AkUSPÐUS Cøh°À •i¢uÁøμ Âzv¯õ\zøuU SÔUS® 
(III) sampling units at each stage are geographically  
 JÆöÁõ¸ Pmhzv¾® ©õv› A»SPÒ ¦Â°¯À Ÿv¯õP EÒÍÚ 
(IV) sampling lists identification, and numbering are required only 
 ©õv› £mi¯ÀPÎß Aøh¯õÍ® ©ØÖ® GsPÒ ©mk÷© ÷uøÁ  

(A) (I) and (III) only (B) (I) and (IV) only 
 (I) ©ØÖ® (III)   (I) ©ØÖ® (IV)  

(C) (I) and (II) only (D) (III) and (IV) only 
 (I) ©ØÖ® (II)  (III) ©ØÖ® (IV) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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52. State which one is not the type of non-random sampling technique 
Gx ÷uõμõ¯ ©v¨¦ ©õv› CÀø» GßÖ TÖP 

(A) Quota sampling (B) Convenience sampling 

 JvURk ©õv›  Á\v¯õÚ ©õv› 

(C) Systematic sampling (D) Snowball sampling 
 •øÓ¯õÚ ©õv›  £Û £¢x ©õv› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

53. A single sample of the identified population that is studied over a
stretched period of time is termed as ———— research design.  
}miUP¨£mh Põ»zvÀ Aøh¯õÍ® Põn¨£mh ©UPÒ öuõøP°ß Kº 
JØøÓU TÖ ‰»® ö\´¯¨£k® B´ÁõÚx ———— B´Ä ÁiÁø©¨¦ 
GÚ AøÇUP¨£kQÓx. 

(A) Exploratory  (B) Longitudinal study  
 öÁÎ£øhußø©  }ÍÁõmk¨ £i¨¦ 

(C) Experimental  (D) Cross-Sectional study  
 £›÷\õuøÚ  SÖUS öÁmk¨ £i¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

54. Factor analysis is a ———— technique. 
Põμo £S¨£õ´Ä Gß£x ———— ~m£®. 

(A) Data Induction (B) Data deduction 

 uμÄ xshÀ  uμÄ PÈzuÀ 

(C) Data reduction (D) Data inclination  
 uμÄ SøÓzuÀ  uμÄ ÷\ºuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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55. A master plan specifying the methods and procedure for collecting
and analyzing the needed information is called  
÷uøÁ¯õÚ uPÁÀPøÍa ÷\P›zx £S¨£õ´Ä ö\´ÁuØPõÚ •øÓPÒ 

©ØÖ® |øh•øÓPøÍU SÔ¨¤k® J¸ ©õìhº ¤Íõß (master plan) 
GÆÁõÖ AøÇUP¨kQÓx 

(A) Research design (B) Research objectives 

 Bμõ´a] ÁiÁø©¨¦  Bμõ´a] ÷|õUP[PÒ 

(C) Research project (D) Pilot study  
 Bμõ´a] vmh®  ø£»m £i¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

56. A variable which is affected or expected to be affected by the
independent variable are called   
\õº£ØÓ ©õÔ¼¯õÀ £õvUP¨£k® AÀ»x £õvUP¨£k® GÚ 
Gvº£õºUP¨£k® ©õÔ¼ ———— GÚ¨£k®. 

(A) Moderator variable (B) Experimental variable 

 ©v¨¥mhõÍº ©õÔ¼  ÷\õuøÚ ©õÔ¼ 

(C) Outcome variable (D) Treatment variable  
 ÂøÍÄ ©õÔ¼  |hzx•øÓ ©õÔ¼ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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57. ———————— is the suspicion that someone else has about the
claim.  
Bμõ´a]¯õÍ›ß P¸zxUS GvμõP TØÖ J¸Áº öu›ÂzuõÀ Ax ——— 

(A) Data snooping 

 uμøÁ EØÖ ÷|õUSuÀ   

(B) Probability  
 {PÌuPÄ 

(C) The alternative hypothesis  
 ©õØÖ P¸x÷PõÒ  

(D) The Null hypothesis 
 \õuõμn P¸x÷PõÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

58. The expected monetary value of decision situation when perfect
information is available, minus the expected value of the decision
situation when no additional information is available is called  
QøhUP ö£ØÓ uPÁÀPÎ¼¸¢x GkUP¨£mh £n ©v¨¦ HØ£kzxQßÓ 
Gvº£õº¨¤¼¸¢x uPÁ»ØÓ `Ì{ø»°À Gvº£õºUP¨£k® £n ©v¨ø£ 
PÈzuõÀ 

(A) Expected value of Statistical Information   

 Gvº£õºUP¨£k® ¦ÒÎÂÁμ uPÁ¼ß ©v¨¦   

(B) EVI 
 EVI 

(C) Expected value of Hypothetical Information   
 Gvº£õºUP¨£k® AÝ©õÚ uPÁ¼ß ©v¨¦ 

(D) EVPI  
 EVPI 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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59. Read both the statements and choose the right answer. 
Cμsk AÔUøPPøÍ £izx, \›¯õÚ £vø» ÷uº¢öukUP. 

Statement [A] : The conclusive research tests authenticates the
propositions revealed by exploratory research.  

AÔUøP [A] :   •iÁõÚ Bμõ´a] ÷\õuøÚPÒ ©ØÖ® B´Ä Bμõ´a] 
‰»® öÁÎ¨£kzu¨£mh •ßö©õÈÄPøÍ
A[RP›UQÓx.  

Statement [B] : The casual research aims at elucidating the data
and primary characteristics about the
object/concept, under study. 

AÔUøP [B] :  B´Âß RÌ EÒÍ ö£õ¸Ò / P¸zx £ØÔ¯ uμÄ ©ØÖ®
•ußø©¯õÚ £s¦PøÍ öuÎÄ£kzxÁøu \õuõμn 
Bμõ´a] ÷|õUP©õPU öPõskÒÍx. 

(A) [A] and [B] are true  

 [A] ©ØÖ® [B] Esø© 

(B) [A] and [B] are false 

 [A] ©ØÖ® [B] uÁÖ 

(C) [A] is true, [B] is false  

 [A] Esø©, [B] uÁÖ 

(D) [A] is false, [B] is true  

 [A] uÁÖ, [B] Esø© 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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60. Which of the following statement are true? 
¤ßÁ¸® TØÖPÎÀ Gx Esø©? 

(A) Applied research is the kind of research where one needs to 
apply specific statistical procedures  

 £¯ß£õmk Bμõ´a] Gß£x J¸ SÔ¨¤mh ¦ÒÎ ÂÁμ 
|øh•øÓPøÍ¨ £¯ß£kzu ÷Ási¯ J¸ ÁøP¯õÚ Bμõ´a] 
BS®   

(B) Exploratory research always leads to a conclusive research 
study 

 B´Ä Bμõ´a] G¨÷£õx® J¸ EÖv¯õÚ Bμõ´a] B´ÄUS 
ÁÈÁSUQÓx 

(C) Both exploratory and conclusive research studies are carried 
out to test the research hypothesis  

 Bμõ´a] P¸x÷PõøÍ ÷\õvUP B´Ä ©ØÖ® EÖv¯õÚ Bμõ´a] 
B´ÄPÒ ÷©ØöPõÒÍ¨£kQßÓÚ  

(D) The research process is a precise and essentially a sequential 
process   

 Bμõ´a] ö\¯À•øÓ J¸ xÀ¼¯©õÚ ©ØÖ® Ai¨£øh°À J¸ 
öuõhº ö\¯À•øÓ BS® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

61. The research consists of surveys and facts finding inquiries of
different types is  
Bμõ´a]¯õÚx £À÷ÁÖ ÁøP¯õÚ Â\õμønPøÍU PshÔ²® B´ÄPÒ 
©ØÖ® Esø©PøÍ öPõskÒÍx Gx? 

(A) Descriptive  (B) Empirical 

 ÂÍUP©õÚ  AÝ£Á§ºÁ©õÚ 

(C) Analytical (D) Conceptual 
 £S¨£õ´Ä  P¸zv¯À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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62. Which of the following is not the main ethical issues in marketing? 
¤ßÁ¸ÁÚÁØÔÀ Gx \¢øu¨£kzxu¼À •UQ¯ ö|Ô•øÓ ]UPÀPÒ 
AÀ»? 

(A) Place issues (B) Product issues 

 Ch ]UPÀPÒ  ö£õ¸Ò ]UPÀPÒ 

(C) Price issues (D) Promotion issues 
 Âø» ]UPÀPÒ  ÷©®£kzxuÀ ]UPÀPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

63. 

 

Which of the following advertising media do you consider as 
personal? 
¤ßÁ¸® G¢u ÂÍ®£μ FhPzøu }[PÒ uÛ¨£mhuõPU P¸xQÕºPÒ? 

(A) Newspaper (B) TV 

 ö\´vzuõÒ  öuõø»UPõm] 

(C) Direct mail (D) Radio  
 ÷|μi Ag\À  ÁõöÚõ¼ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

64. Tele marketing is a part of  
öuõø»÷£] \¢øu£kzxuÀ Gß£x —————— Cß J¸ £Sv¯õS®. 

(A) Social marketing (B) Direct marketing 

 \‰P \¢øu¨£kzuÀ  ÷|μi \¢øu¨£kzuÀ 

(C) Viral marketing (D) Influence marketing 
 øÁμÀ \¢øu¨£kzuÀ  EÓÄ \¢øu¨£kzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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65. Assertion [A] : E-Commerce is an emerging field which cannot be
ignored. 

TØÖ [A] :    ªß&ÁoP® J¸ ÁÍº¢x Á¸® xøÓ¯õS®. Aøu
¦ÓUPoUP •i¯õx. 

Reason [R] :  The legal framework relating E-Commerce is yet 
to be crystallized.  

Põμn® [R] :  ªß&ÁoP® öuõhº£õÚ \mh§ºÁ £oPÒ CßÝ® 
£iP©õUP¨£hÂÀø». 

(A) Both [A] and [R] are true and [R] is the correct explanation of 
[A] 

 [A] ©ØÖ® [R] BQ¯ Cμsk® \› ©ØÖ® [R] Gß£x [A] °ß \›¯õÚ 
ÂÍUP® 

(B) Both [A] and [R] are true, but [R] is not the correct explanation 
of [A] 

 [A] ©ØÖ® [R] BQ¯ Cμsk® \› ©ØÖ® [R] Gß£x [A] °ß \›¯õÚ 
ÂÍUP® CÀø» 

(C) [A] is true, [R] is false 

 [A] \› [R] uÁÖ 

(D) [A] is false, [R] is true 

 [A] uÁÖ [R] \› 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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66. Social force designed to protect consumer interests in the market
place by organising and exerting consumer pressure on business.
So it is called as  
ÁoPzvÀ ~Pº÷Áõº AÊzuzøu JÊ[Pø©zx Â›ÁõUSÁuß ‰»® 
\¢øu°À ~Pº÷Áõº |»ßPøÍ¨ £õxPõUP ÁiÁø©UP¨£mh \‰P \Uv, 
GÚ÷Á Cx —————— GÚ AøÇUP¨£kQÓx. 

(A) Consumer research (B) Consumer satisfaction 

 ~Pº÷Áõº Bμõ´a]  ~Pº÷Áõº v¸¨v 

(C) Consumer protection (D) Consumerism  
 ~Pº÷Áõº £õxPõ¨¦  £¯ß£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

67. ———————— should perform these basic functions like appeal,
protect, perform, convince to end users and cost effective. 
Cx •øÓ°k•øÓ, £õxPõUS® •øÓ {PÌzx® •øÓ, EÖv¯õP |®£ 
øÁUS® •øÓ ÷£õßÓøÁPøÍ CÖv £¯nºPÐUS SøÓ¢u ö\»ÂÀ 
ö\´Áx? 

(A) Packaging (B) Shopping centre 

 öuõS¨¦ •øÓ  £ÀPøh A[Põi 

(C) Distribution (D) Labelling  
 Â{÷¯õP®  ö£¯›ku» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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68. Which one of the following refers to “two or more unrelated
companies put together resources or programmes to exploit an
emerging market opportunity? 
¤ßÁ¸ÁÚÁØÔÀ Gx Cμsk AÀ»x AuØS ÷©Ø£mh öuõhº£ØÓ 
{ÖÁÚ[PÒ ÁÍº¢x Á¸® \¢øu Áõ´¨ø£¨ £¯ß£kzxÁuØS Buõμ[PÒ 
AÀ»x vmh[PøÍ JßÔøn¨£øuU SÔUQÓx. 

(A) Holistic marketing  

 •Êø©¯õÚ \¢øu¨£kzuÀ   

(B) Horizontal marketing strategy 
 Qøh©mh \¢øu¨£kzuÀ Ezv  

(C) Hub and spoke system  
 í¨ ©ØÖ® ì÷£õU ]ìh®  

(D) Co-branding   
 Cøn •zvøμ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

69. ———————— is arranging for a product to occupy a clear,
distinctive, and desirable place relative to comparing products in the
minds of target consumers. 
C»US ~Pº÷Áõ›ß ©ÛuÀ, ÷£õmi°k® ö£õ¸mPøÍ J¨¤k®÷£õx, 
öuÎÁõÚ, uÛzxÁ©õÚ ©ØÖ® Â¸®£zuUP Chzøu¨ ö£ÖÁuØS 
—————— J¸ ö£õ¸øÍ JÊ[Pø©Ä ö\´QÓx. 

(A) Market targeting (B) Market segmentation 

 \¢øu C»US ö\´uÀ   \¢øu TÖ£kzxuÀ 

(C) Diversification (D) Positioning  
 £ÀÁøP¨£kzxuÀ  {ø»¨£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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70. ———————— is a deliberate attempt to damage (or) totally kill
the demand for goods and services.  
J¸ ö£õ¸ÐU÷Põ (©ØÖ®) ÷\øÁUPõÚ ÷uøÁø¯ •Êø©¯õP 
÷\u¨£kzxÁx (A) SøÓ¨£uØPõÚ ö\¯À  

(A) Mega-Marketing (B) Speed Marketing  
 ªP ö£›¯ \¢øu¨£kzxuÀ  ÂøμÄ \¢øu¨£kzxuÀ 

(C) De-Marketing (D) Over Marketing 
 uk¨¦ \¢øu¨£kzxuÀ  {øÓÄ \¢øu¨£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

71. The study of statistics of birth, deaths, diseases etc in order to show
the state of population is known as  
©UPÒöuõøP {ø»ø¯U Põs¤¨£uØPõP ¤Ó¨¦, CÓ¨¦, ÷|õ´PÒ 
÷£õßÓÁØÔß ¦ÒÎÂÁμ[PÎß B´Ä —————— GÚ 
AÔ¯¨£kQÓx. 

(A) Economic environment  

 ö£õ¸Íõuõμ `ÇÀ   

(B) Socio-cultural environment 
 \‰P P»õa\õμ `ÇÀ 

(C) Demographic environment  
 ©UPÒöuõøP `ÇÀ  

(D) Technological environment  
 öuõÈÀ~m£ `ÇÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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72. The main goals of pricing of a product is for  
J¸ ö£õ¸ÐUS Âø»°ku¼ß •UQ¯ ÷|õUP©õÚx 

(A) Target return on investment  (B) Production target 

 •u½møh v¸®£ ö£Ö® C»US  EØ£zvUPõÚ C»US   

(C) Target sales (D) Prospective consumer  
 ÂØ£øÚUPõÚ C»US  Á¸[Põ» ~Pº÷Áõ¸UPõP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

73. The gathering, recording and analysing of all data about problems
relating to the transfer and sale of goods and services from producer
to consumer. So it is called as  
EØ£zv¯õÍ›hª¸¢x ~Pº÷Áõ¸US ö£õ¸mPÒ ©ØÖ® ÷\øÁPÎß 
£›©õØÓ® ©ØÖ® ÂØ£øÚ öuõhº£õÚ ]UPÀPÒ £ØÔ¯ AøÚzx 
uμøÁ²® ÷\P›zuÀ, £vÄ ö\´uÀ ©ØÖ® £S¨£õ´Ä ö\´uÀ. GÚ÷Á Cx 
—————— GÚ AøÇUP¨£kQÓx. 

(A) Marketing Information System  

 ÷©»õsø© uPÁÀ Aø©¨¦   

(B) Marketing research 
 \¢øu¨£kzuÀ Bμõ´a] 

(C) Market research  
 \¢øu Bμõ´a]  

(D) Marketing strategies   
 \¢øu°¯À EzvPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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74. The goal of marketing is to move the products from the producer to  
\¢øu¨£kzxu¼ß C»US u¯õ›¨¦ ö£õ¸ÒPøÍ EØ£zv¯õÍ›hª¸¢x 
—————— US öPõsk ÷\º¨£uõS®. 

(A) The showroom (B) The customer 

 Põm]¯øÓ  ÁõiUøP¯õÍº 

(C) The wholesaler  (D) The retailer  
 ö©õzu Â¯õ£õ›  ]À»øμ Â¯õ£õ› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

75. The term marketing mix describes  
\¢øu¨£kzuÀ P»øÁ GßÓ ö\õÀ 

(A) A composite analysis of all environmental factors inside and 
outside the firm  

 {ÖÁÚzvß EÒ÷Í²® öÁÎ÷¯²® EÒÍ AøÚzx _ØÖa`ÇÀ 
PõμoPÎß P»øÁ¯õÚ £S¨£õ´øÁ ÂÁ›UQÓx   

(B) A series of business decisions that aid in selling a product 
 J¸ ö£õ¸øÍ ÂØP EuÄ® ÁoP •iÄPÎß Á›ø\ø¯ ÂÁ›UQÓx

(C) The relationship between a firm’s marketing strengths and its 
business weaknesses   

 J¸ {ÖÁÚzvß \¢øu¨£kzuÀ £»® ©ØÖ® Auß ÁoP 
£»ÃÚ[PÐUS Cøh°»õÚ EÓøÁ ÂÁ›UQÓx  

(D) A blending of four strategic elements to satisfy specific target 
maker  

 SÔ¨¤mh C»US u¯õ›¨£õÍøμ v¸¨v¨£kzu |õßS Ezv 
TÖPÎß P»øÁø¯ ÂÁ›UQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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76. Market Intermediaries are an integral link between the producers
and  
\¢øu CøhzuμPºPÒ ö\¯À •øÓPÒ ©ØÖ® –––––––––– Cøh÷¯ J¸ 
J¸[Qøn¢u Cøn¨£õS®. 

(A) Agents (B) Distributors 

 •PÁ›PÒ  Â{÷¯õPìuºPÒ 

(C) Retailers (D) Final users  
 ]À»øμ ÂØ£øÚ¯õÍºPÒ  CÖv £¯ÚºPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

77. Marketing is an integrated system of action that creates value in
goods through the creation of form, place, time and ownership 
utilities is called. 
\¢øu¨£kzuÀ Gß£x ö£õ¸mPÎß ©v¨ø£ E¸ÁõUP® J¸ J¸[Qøn¢u 
ö\¯À •øÓ¯õS® ÁiÁ®, Ch®, ÷|μ® ©ØÖ® E›ø©°ß £¯ß£õk 
BQ¯ÁØÔß E¸ÁõUP®. 

(A) Reizan (B) Backman 

 Ÿ\õß  ÷£U÷©ß 

(C) Buskirk (D) Davidson  
 £ìQºU  ÷hÂm\ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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78. Read both the statements and choose the right answer : 
Cμsk AÔUøPPøÍ²® £izx, \›¯õÚøuz ÷uº¢öukzx GÊuÄ®. 

Statement [A] : Selling concepts takes inside – out perspective. 

AÔUøP [A] :   ÂØ£øÚ P¸zxPÎß Ps÷nõmh® EÒ÷Í–öÁÎ ÷¯ 
GÚ GkUP¨£k® 

Statement [B] : Marketing concepts takes outside – in perspective.

AÔUøP [B] :  \¢øu¨£kzuÀ P¸zxUPÒ öÁÎ÷¯–EÒ÷Í GßÓ 
Ps÷nõmhzvÀ GkUP¨£k® 

(A) [A] and [B] are true 

 [A] ©ØÖ® [B]  Esø© 

(B) [A] and [B] are false 

 [A] ©ØÖ® [B] uÁÖ 

(C) [A] is true, [B] is false 

 [A] Esø© [B] uÁÖ 

(D) [A] is false, [B] is true  

 [A] uÁÖ, [B]  Esø© 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 

79. The marketing enables the development, pricing, promotion and
distribution of products that do not harm the environment is known
as  
ÁÍºa], Âø» {ºn¯®, ö£õ¸ÒPøÍ Â{÷¯õQzuÀ BQ¯ÁØÔÀ 
_ØÖa`Çø» £õvUPõuÁõÖ \¢øu¨£kzx® •øÓ CÆÁõÖ AøÇUQ÷Óõ®. 

(A) Social marketing (B) Green marketing 

 \‰P \¢øu¨£kzxuÀ  £_ø© \¢øu¨£kzxuÀ 

(C) Ethical marketing (D) Event marketing 
 ö|Ô•øÓ \¢øu¨£kzxuÀ  {PÌÄ \¢øu¨£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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80. The process of marketing involves an ———————— between the 
buyer and the seller. 
\¢øu°¯À ö\¯À£õkPÎÀ –––––––– Áõ[S£Á¸US® ©ØÖ® ÂØ£Á¸US® 
Dk£kzu¨£kQÓx. 

(A) Exchange of products  

 u¯õ›¨¦PÒ £›©õØÓ®   

(B) Exchange of cash  
 £n £›©õØÓ® 

(C) Exchange of transaction   
 £›ÁºzuøÚ £›©õØÓ®  

(D) Exchange of goods   
 ö£õ¸mPÒ £›©õØÓ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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81. Match the following stages in evolution of marketing with their
respective motto : 
\¢øu¨£kzu¼ß £›nõ© ÁÍºa]°À ¤ßÁ¸® {ø»PøÍ A¢u¢u
SÔU÷PõÐhß ö£õ¸zuÄ® : 
 Stages in evolution    Motto  
 {ø»   SÔU÷PõÒ 
(a) Production oriented stage  1. Have what you can get  
      rid of  
 EØ£zv \õº¢u {ø»    Gøu APØÓ •i²÷©õ  
      Aøu øÁzv¸[PÒ 
(b) Sales oriented stage  2. Have what you can get 
      rid of with responsibility 
 ÂØ£øÚ \õº¢u {ø»    }[PÒ ö£õÖ¨¤¼¸¢x  
      Âk£hUTi¯ÁØøÓU  
      öPõsi¸[PÒ 
(c) Marketing oriented stage 3. Get rid of what you have 
 \¢øu¨£kzuÀ \õº¢u {ø»  EßÛh® C¸¨£øu   
      APØÖ 
(d) Customer oriented stage 4. Sell what can be   
      produced  
 ÁõiUøP¯õÍº \õº¢u {ø»  EØ£zv ö\´¯UTi¯øu  
      ÂØPÄ® 

 (a) (b) (c) (d) 
(A)   3  4  1  2 
(B)   4  2  1  3        
(C)   3  4  2  1       
(D)   4  3  1  2       
(E)   Answer not known 
  Âøh öu›¯ÂÀø» 
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82. In a market goods are exchanged and delivery of goods takes place 
immediately is called   
J¸ \¢øu°À ö£õ¸Îß £›©õØÓ•® A¨ö£õ¸Îß Â{÷¯õP•® 
EhÚi¯õP ÷©ØöPõÒÍ¨£mhõÀ, Aa\¢øu –––––––––– GßÖ 
AøÇUP¨£k®. 

(A) Future market (B) Regulated market 

 GvºPõ» \¢øu  JÊ[S•øÓ \¢øu 

(C) Spot market (D) City market 
 EhÚi \¢øu  |Pμ \¢øu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

83. Audit working papers are the property of  
uoUøP £oz uõÒPÒ ¯õ¸øh¯ ö\õzx BS® 

(A) The Auditor  (B) The Managing Director 

 uoUøP¯º  {ºÁõP C¯US|º 

(C) The Banker (D) The Government 
 Á[Q¯õÍº  Aμ_ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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84. An independent audit is conducted by an independent,
professionally qualified person, who is  
J¸ _u¢vμ©õÚ uoUøPø¯ ÷©ØöPõÒ£Áº J¸ _u¢vμ©õÚ, öuõÈÀ•øÓ 
uSv Eøh¯ÁμõPÄ® ÷©¾® AÁº 

(A) Employee of the organisation  

 A¢u {ÖÁÚzvß FÈ¯μõP C¸UP ÷Ásk®   

(B) Not an employee of the organisation 
 A¢u {ÖÁÚzvß FÈ¯μõP C¸UPUThõx 

(C) Employee of their bank  
 AÁºPÍx Á[Q FÈ¯μõP C¸UP ÷Ásk®  

(D) Investor of the organisation   
 {ÖÁÚzvß •u½mhõÍμõP C¸UP ÷Ásk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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85. Match the following  : 
RÌUPshÁØøÓ ö£õ¸zxP : 
 List I     List II 
 £mi¯À I    £mi¯À II 
(a) Independent Appraisal Activity  1. Secretarial Audit   
      Report 
 _¯õwÚ ©v¨¥mk |hÁiUøP  ö\¯»P uoUøP AÔUøP

(b) Verification   2. Final product of Audit  
 \›£õº¨¦    uoUøP°ß CÖv   
      AÔUøP 
(c) Audit Report   3. Section 123  
 uoUøP AÔUøP    ¤›Ä123 
(d) Form MR3   4. Internal Audit   
 £iÁ® MR3    EÒxøÓ uoUøP 

(e) Declaration of Dividend  5. Proving the truth  
 DÄzöuõøP AÔÂ¨¦   Esø©ø¯ {¹¤¨£x 

 (a) (b) (c) (d) (e) 
(A)  3  4  5  1  2          
(B)  4  5  2  1  3           
(C)  1  2  3  4  5          
(D)  2  3  4  1  5        
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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86. The system of receipt and payment of cash should be such that the
work of one clerk is automatically checked  by another clerk 
J¸ GÊzuº ö£Ö® öμõUPzøu²® ö\¾zx® öμõUPzøu²®, ©ØöÓõ¸ 
GÊzuº \›£õºUS® •øÓø¯ 

(A) Internal control (B) Internal check  
 EÒ Pmk£õk  EÒ ÷\õuøÚ 

(C) Internal vouching (D) Internal verifying  
 EÒ EÖv ö©õÈ  EÒ \›£õº¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

87. Which of the following statements are correct with regard to audit? 
uoUøP öuõhº£õP  ¤ßÁ¸® TØÖPÎÀ GøÁ \›¯õÚøÁ? 

(1) The main objective of audit is to express expert opinion on 
financial statements. 

 {v{ø» AÔUøPPÎÀ {¦nºPÎß P¸zøu öÁÎ¨£kzxÁ÷u 
uoUøP°ß •UQ¯ ÷|õUP©õS® 

(2) Auditing is a thorough examination of the books of account for 
a particular or number of years.  

 uoUøP Gß£x J¸ SÔ¨¤mh AÀ»x £» BskPÐUPõÚ 
PnUS¨ ¦zuP[PøÍ •Êø©¯õP B´Ä ö\´ÁuõS® 

(3) A continuous audit is not of much use to a small concern. 
 öuõhº uoUøP¯õÚx ]Ö {ÖÁÚzvØS AvP® £¯ß£hõx 

(4) An auditor must adopt an attitude of suspicion. 
 J¸ uoUøP¯õÍº \¢÷uP ©Ú¨£õßø©ø¯ Pøh¤iUP ÷Ásk® 

(A) (2) and (3) (B) (3) and (4) 

 (2) ©ØÖ® (3)  (3)©ØÖ® (4) 

(C) (1) and (3) (D) (1) and (4) 
 (1) ©ØÖ® (3)  (1) ©ØÖ®(4) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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88. Which of the following companies assets and liabilities to be valued?
G¢u {ÖÁÚzvß ö\õzxUPøÍ²® ©ØÖ® ö£õÖ¨¦PøÍ²® ©v¨¥k ö\´¯ 
÷Ásk®?  

(A) New concern  

 ¦v¯ {ÖÁÚ® 

(B) Old concern  
 £øÇ¯ {ÖÁÚ® 

(C) Closed concern  
 ‰h¨£mh {ÖÁÚ® 

(D) Going concern 
 öuõhº¢x öPõsi¸US® {ÖÁÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

89. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ ö£õ¸zxP : 
(a) Fixed Instalment method 1. Goodwill 
 {ø»¯õÚ uÁøn •øÓ   |Øö£¯º 
(b) Depletion   2. Technical advancement 
 SøÓuÀ    öuõÈÀ ~m£•ß÷ÚØÓ® 
(c) Amortisation   3. Physical deterioration  
      of natural resources  
 £n ©v¨¤Ç¨¦    C¯ØøP ÁÍ[PÒ ]øuÄ 
(d) Obsolescence   4. Original cost method   
 ÁÇUPØÖ÷£õuÀ    A\À ö\»Ä •øÓ 

 (a) (b) (c) (d)  

(A)  3  1  4  2          
(B)  4  3  1  2           
(C)  2  3  4  1           
(D)  3  2  1  4        
(E) Answer not known 
      Âøh öu›¯ÂÀø» 
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90. When there is a change in estimated depreciation  
©v¨¤h¨£mh ÷u´©õÚzvÀ ©õØÓ® HØ£k® ÷£õx 

(A) Previous depreciation should be corrected   

 •¢øu¯ ÷u´©õÚzøu \› ö\´¯ ÷Ásk®   

(B) Current and future years’ depreciation should be revised 
 |h¨¦ ©ØÖ® GvºPõ» BskPÎß ÷u´©õÚ® v¸zu¨£h ÷Ásk® 

(C) Only future years’ depreciation should be revised  
 GvºPõ» BskPÎß ÷u´©õÚ® ©mk÷© v¸zu¨£h ÷Ásk®  

(D) Previous and future years depreciation should be revised  
 •¢øu¯ ©ØÖ® GvºPõ» BskPÎß ÷u´©õÚ® v¸zu¨£h 

÷Ásk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

91. Detailed plan of the auditing work to be performed, specifying the
procedures to be followed in verification of each item in the financial
statements and giving the estimated time required. So it is called as 
{v{ø» AÔUøPPÎÀ JÆöÁõ¸ E¸¨£iø¯²® \›¨£õº¨£vÀ ¤ß£ØÓ 
÷Ási¯ |øh•øÓPøÍU SÔ¨¤kÁx ©ØÖ® ÷uøÁ¯õÚ ©v¨¤h¨£mh 
÷|μzøu ÁÇ[SuÀ, ö\´¯ ÷Ási¯ uoUøP¨ £o°ß Â›ÁõÚ vmh®. 
GÚ÷Á Cx –––––––––– GÚ AøÇUP¨£kQÓx 

(A) Audit note book (B) Audit control 

 uoUøP SÔ¨¦ ¦zuP®  uoUøP Pmk¨£õk 

(C) Audit working paper  (D) Audit programme  
 uoUøP ÷Áø» PõQu®  uoUøP vmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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92. Calculate what amount will be posted to income and expenditure a/c
for stationery  
Á¸©õÚ® ©ØÖ® ö\»Ä PnUQÀ GÊxö£õ¸Ò ö\»Ä GÆÁÍÄ Põmh¨£h 
÷Ásk® Gß£øu PshÔ¯Ä®. 

          Rs. 

Stock of stationery on 1.1.2020    300 

Creditors for stationery 1.1.2020   200 

Advance paid for stationery 31.12.2019   20 

Amount paid for stationery in 2020    1,080 

Stock of stationery 31.12.2020   50 

Creditors for stationery 31.12.2020   130 

Advance paid for stationery 31.12.2020  30 
               ¹. 

GÊxö£õ¸Ò C¸¨¦ 1.1.2020    300 

PhÜ¢÷uõº PnUS 1.1.2020   200 

GÊxö£õ¸Ò •ßTmi÷¯ ö\¾zv¯x 31.12.2019  20 

öμõUP® ö\¾zv¯x 2020 À    1,080 

GÊxö£õ¸Ò C¸¨¦ 31.12.2020   50 

PhÜ¢÷uõº PnUS 31.12.2020   130 

GÊxö£õ¸Ò •ßTmi÷¯ ö\¾zv¯x 31.12.2020 30 

(A) Rs. 3,250 (B) Rs. 1,250 

(C) Rs. 2,250 (D) Rs.250 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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93. Assertion [A] : Statement of profit and loss shows the results of
business operations for the year ended on that 
date. 

TØÖ [A] :    »õ£® ©ØÖ® CÇ¨¦ AÔUøP A¢u ÷uv°À
•iÁøh¢u BsiØPõÚ ÁoP |hÁiUøPPÎß
•iÄPøÍU PõmkQÓx. 

Reason [R] :  It is prepared in the form prescribed in Part II of
schedule III of the companies Act, 2013. 

Põμn® [R] :  Cx {ÖÁÚ[PÒ \mh® 2013 Cß AmhÁøn III Cß 

£Sv II CÀ £›¢xøμUP¨£mh £iÁzvÀ
u¯õ›UP¨£kQÓx. 

(A) Both [A] and [R] are true and [R] explains [A] 

 [A] ©ØÖ® [R] Cμsk® \›¯õÚx ©ØÖ® [R] , [A]  øÁ ÂÍUSQÓx 

(B) Both [A] and [R] are true and [R] does not explain [A] 

 [A] ©ØÖ® [R] Cμsk® \›¯õÚx  [R], [A] øÁ ÂÍUPÂÀø» 

(C) [A] is correct and [R] is false 

 [A] \›¯õÚx ©ØÖ® [R] uÁÓõÚx 

(D) [A] is false and [R] is true 

 [A] uÁÓõÚx ©ØÖ® [R] \›¯õÚx 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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94. Cost of goods sold is equal to  
ÂØP¨£k® ö£õ¸mPÎß Âø»US \©©õÚx Gx? 

(A) Sales less gross profit  

 ÂØ£øÚ°À ö©õzu »õ£® PÈzuÀ   

(B) Opening stock + purchases – closing stock 
 öuõhUP C¸¨¦ \μUS + öPõÒ•uÀ – CÖv C¸¨¦ \μUS 

(C) Sales – Closing  stock – Purchases  
 ÂØ£øÚ – CÖv C¸¨¦ \μUS – öPõÒ•uÀ  

(D) Purchases + Closing stock – Opening stock  
 öPõÒ•uÀ + öuõhUP C¸¨¦ \μUS – CÖv C¸¨¦ \μUS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

95. The closing stock is always valued at  
CÖv \μUQ¸¨¦ G¨ö£õÊx® G¢u Âø»°À ©v¨¤h¨£kQÓx? 

(A) Cost or market price which is lower   

 AhUPÂø» (A) \¢øu Âø» , Gx SøÓ÷Áõ   

(B) Selling or cost price which is lower  
 ÂØ£øÚ Âø» (A) AhUPÂø», Gx SøÓ÷Áõ 

(C) Marginal cost or going rate which is lower.  
 ÂÎ®¦ Âø» (A) ö\À¾® ÂQu®, Gx SøÓ÷Áõ  

(D) Full cost or markup pricing which is lower    
 •Ê ö\»Ä (A) SÔzu Âø», Gx SøÓ÷Áõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



385 – Business Administration 
 

56

96. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zuÄ® : 
(a) Compensating error 1. Happens when a transaction is not 
     recorded in the books  
 Dkö\´²® ¤øÇ   £›ÁºzuøÚ ¦zuP[PÎÀ £vÄ   
     ö\´¯¨£hõu ÷£õx {PÌQÓx 
(b) Error of omission  2. Occurs where capital and revenue 
     distinction is not made   
 Âk£mh ¤øÇ   ‰»uÚ® ©ØÖ® Á¸Áõ´ CÚ[PÒ  
     ÷ÁÖ£kzu¨£hõu ChzvÀ {PÌQÓx 
(c) Error of commission 3. Occurs when the effect of one 
     transaction is neutralised by 
     another error   
 ö\´¤øÇ   J¸ £›ÁºzuøÚ°ß ÂøÍÄ   
     ©ØöÓõ¸ ¤øÇ ‰»® |k{ø»¯õS®  
     ÷£õx HØ£kQÓx 
(d) Error of principle  4. Affect the agreement of trial 
     balance   
 öPõÒøP ¤øÇ   C¸¨¦ ÷\õuøÚ¨ £mi¯À   
     Ehß£õmøh £õvUS® 

 (a) (b) (c) (d) 
(A)  3  1  4  2          
(B)  3  4  1  2          
(C)  4  1  2  3        
(D)  3  1  2  4      
(E)  Answer not known 
 Âøh öu›¯ÂÀø» 
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97. Which one of the following satisfies the accounting equation?  
¤ßÁ¸ÁÚÁØÔÀ Gx PnUQ¯À \©ß£õmøh \›¯õP ÂÍUSQÓx? 

(A) Asset + Liabilities = Owner’s equity     

 ö\õzx + ö£õÖ¨¦PÒ = E›ø©¯õÍº £[S   

(B) Owner’s equity + Liabilities = Assets 
 E›ø©¯õÍº £[S + ö£õÖ¨¦PÒ = ö\õzxPÒ 

(C) Assets = Owner’s equity  
 ö\õzxPÒ = E›ø©¯õÍº £[S  

(D) Liabilities = Owner’s equity  
 ö£õÖ¨¦PÒ = E›ø©¯õÍº £[S 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

98. Income and Expenditure account is a  
Á¸Áõ´ ö\»ÂÚ PnUS Gß£x J¸ 

(A) Personal a/c (B) Real account 

 BÒ\õº PnUS  Esø© PnUS 

(C) Nominal account (D) Cash account 
 ö£¯μÍÄ PnUS  öμõUP PnUS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



385 – Business Administration 
 

58

99. Cost incurred should be matched with revenues of the particular
period is based on   
SÔ¨¤mh Põ» Pmhzvß Á¸Áõ°ß Ai¨£øh°À HØ£k® ö\»ÄPÒ 
ö£õ¸¢u ÷Ásk®. CvÀ Gx Esø© TØÖ? 

(A) Money measurement concept (B) Matching concept 

 £n AÍÃmk P¸zx  ö£õ¸¢x® P¸zx 

(C) Historical cost concept (D) Full disclosure concept  
 Áμ»õØÖ ö\»Ä P¸zx  •Ê öÁÎ¨£kzuÀ P¸zx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

100. When entries are made in the books of original entry (or) ledger are
incorrect wholly (or) partially, such errors are  
SÔ¨÷£k (A) ÷£÷μmiÀ £vÄ ö\´u £vÄPÒ £Sv¯õP÷Áõ 
(A) •Êø©¯õP÷Áõ uÁÓõP C¸¢uõÀ Ax 

(A) Error of commission (B) Error of duplication 

 ö\´ ¤øÇ  Cμmi¨¦ ¤øÇ 

(C) Compensating errors (D) Error of omission  
 DkPmk¢uÁÖPÒ  Âk ¤øÇ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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101. Contingent liability is shown in the balance sheet because of 
uØö\¯»õÚ ö£õÖ¨¦ C¸¨¦{ø»U SÔ¨¤À Põmh¨£mkÒÍx HöÚÛÀ 

(A) Convention of consistency 
 {ø»zußø© ÷Põm£õk 

(B) Convention of materiality 
 ö£õ¸Ò ÷Põm£õk 

(C) Convention of disclosure 
 öÁÎ¨£kzxuÀ ÷Põm£õk 

(D) Convention of conservatism 
 £Çø©Áõuzvß ÷Põm£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

102. Which of the following statement is/are false about accounting 
principles? 
RÌÁ¸® TØÖ/TØÖPÎÀ PnUQ¯À öPõÒøPPÒ £ØÔ¯ uÁÖ Gx? 
1. Capital is equal to net assets 
 ‰»uÚ® {Pμ ö\õzxUS \©®   
2. Bank account is a real account  
 Á[Q P/S Gß£x ö\õzx P/S 
3. Profit or Loss has no effect on net worth  
 C»õ£® AÀ»x |mh® {Pμ ©v¨¤ß «x G¢u ÂøÍÄ® HØ£kzuõx 

(A) 1 and 3 (B) 2 and 3  
 1 ©ØÖ® 3  2 ©ØÖ®  3  

(C) 1 and 2 (D) 2 only 
 1 ©ØÖ® 2  2 ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



385 – Business Administration 
 

60

103. Which of the following concept is not playing an important role in
Hicksian model?  
¤ßÁ¸® P¸zxPÎÀ Gx îUê¯ß ©õv›°À •UQ¯¨ £[S 
ÁQUPÂÀø»? 

(A) Warranted rate of growth 
 EzvμÁõu©õÚ ÁÍºa] ÂQu® 

(B) Inducted and autonomous investment 
 EÒÁõ[P¨£mh ©ØÖ® ußÚõm] •u½k 

(C) Multiplier and accelerator 
 ö£¸UQ ©ØÖ® •kUQ 

(D) Rate of interest 
 Ámi ÂQu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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104. Arrange the following phases of Business Cycles in chronological
order : 
ÁoP _ÇØ]°ß ¤ßÁ¸® Pmh[PøÍ Põ»Á›ø\¨£i JÊ[Pø©UPÄ®. 
(I) Peak of boom or prosperity  
 HØÓ® AÀ»x ö\È¨¤ß Ea\® 

(II) Expansion of economic activities  
 ö£õ¸Íõuõμ |hÁiUøPPÎß Â›ÁõUP® 

(III) Recovery and expansion   
 «m¦ ©ØÖ® Â›ÁõUP® 

(IV) Recession the downtrend   
 ©¢u{ø» \›Ä 

(V) Through the bottom depression  
 RÌ ©Úa÷\õºÄ ‰»®  
(A) (I), (V), (II), (III), (IV) (B) (III), (II), (I), (IV), (V) 
(C) (IV), (III), (II), (I), (V) (D) (II), (I), (IV), (V), (III) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
 

105. Which among the following is not a method of calculating national
income? 
¤ßÁ¸ÁÚÁØÔÀ Gx ÷u]¯ Á¸©õÚzøuU PnUQkÁuØPõÚ •øÓ 
AÀ»? 

(A) Income method (B) Inflation method 

 Á¸©õÚ •øÓ  £nÃUP •øÓ 

(C) Expenditure method (D) Product method  
 ö\»Ä •øÓ  EØ£zv •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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106. Which one of the following structural changes in the composition of 
National Income of India would characterise economic development?
C¢v¯õÂß ÷u]¯ Á¸©õÚzvß P»øÁ°À ¤ßÁ¸® Pmhø©¨¦ 
©õØÓ[PÎÀ Gx ö£õ¸Íõuõμ ÁÍºa]ø¯ ÁøP¨£kzx®? 

(A) A large  proportion of income from agriculture relative to other 
sectors  

 ©ØÓ xøÓPÐhß J¨¤k®÷£õx ÂÁ\õ¯zvß ö£¸® £Sv 
Á¸©õÚ®   

(B) A small proportion of income from the tertiary sector compared 
to that from agriculture 

 ÂÁ\õ¯zv¼¸¢x Á¸® Á¸©õÚzxhß J¨¤k®÷£õx ‰ßÓõ® 
{ø»zxøÓ°À C¸¢x Á¸® Á¸©õÚzvß J¸ ]Ô¯ ÂQu® 

(C) A larger proportion of income from industry as compared to 
that from agriculture 

 ÂÁ\õ¯zvÀ C¸¢x Á¸® Á¸©õÚzxhß J¨¤k®÷£õx 
öuõÈØxøÓ°À C¸¢x Á¸® Á¸©õÚzvß ö£¸® £Sv  

(D) A smaller portion of income from industry as compared to that 
from the tertiary sector  

 ‰ßÓõ® {ø»zxøÓ°¼¸¢x Á¸® Á¸©õÚzxhß J¨¤k®÷£õx 
öuõÈÀ xøÓ°¼¸¢x Á¸® Á¸©õÚzvß J¸ ]Ô¯ £Sv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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107. When two much money chasing too few goods, the probable result is
recognised as  
AvP £n® ªPU SøÓÁõÚ ö£õ¸mPøÍ xμzx®÷£õx \õzv¯©õÚ 
ÂøÍÄ GxöÁÚ A[RP›UP¨£kQÓx? 

(A) Demand pull inflation  

 ÷uøÁ CÊUS® £nÃUP®   

(B) Deflation 
 £nÁõmh® 

(C) Cost push inflation   
 ö\»Ä ªSv £nÃUP®  

(D) Stagflation   
 ÷uUP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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108. Assertion [A] : With rising prices, larger amounts are required
even to maintain a constant volume of production 
and sales. 

TØÖ [A] :    Âø»Áõ] E¯ºÄhß EØ£zv ©ØÖ® ÂØ£øÚ°ß
{ø»¯õÚ AÍøÁ £μõ©›UP Th ö£›¯ öuõøPPÒ
÷uøÁ¨£kQßÓÚ. 

Reason [R] :  The working capital requirement of a business
become higher with higher rate of inflation. 

Põμn® [R] :  £nÃUPzvß E¯ºÂQuzxhß J¸ ÁoPzvß 
ö\¯À£õmk ‰»uÚz ÷uøÁ AvP©õQÓx. 

(A) Both [A] and [R] are true and [R] explains [A] 

 [A] ©ØÖ® [R] Cμsk® \›¯õÚx ©ØÖ® [R], [A]øÁ ÂÍUSQÓx 

(B) Both [A] and [R] are true and [R] does not explain [A] 

 [A] ©ØÖ® [R] Cμsk® \›¯õÚx ÷©¾® [R], [A]øÁ ÂÍUPÂÀø»

(C) [A] is correct and [R] is false 

 [A] \›¯õÚx ©ØÖ® [R] uÁÓõÚx 

(D) [A] is false and [R] is true 

 [A] uÁÓõÚx ©ØÖ® [R] \›¯õÚx 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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109. Choose the correct matches type, which of the following is correctly
paired? 
\›¯õÚ Cøn ÁøPø¯z ÷uºÄ ö\´¯Ä® : 
¤ßÁ¸ÁÚÁØÔÀ Gx \›¯õP CønUP¨£mkÒÍx. 

(1) NNP  –  Net National Product 
 NNP  {Pμ ÷u]¯ EØ£zv 

(2) DPI  –  Deposit Personal Income 
 DPI   uÛ|£º Á¸©õÚ øÁ¨¦ 

(3) PCI  –  Percentage Capital Income 
 PCI   ‰»uÚ Á¸©õÚ \uÃu® 

(4) GNP  –  Gross National Product  
 GNP  ö©õzu ÷u]¯ EØ£zv 

(A) (1) and (3) are correct (B) (1) and (4) are correct 

 (1) ©ØÖ® (3) \›¯õÚøÁ  (1) ©ØÖ® (4) \›¯õÚøÁ 

(C) (4) and (2) are correct (D) (3) and (4) are correct  
 (4) ©ØÖ® (2) \›¯õÚøÁ  (3) ©ØÖ® (4) \›¯õÚøÁ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

110. The task of estimating national income was assigned to the Central
statistical organization during the year 
÷u]¯ Á¸©õÚzøu ©v¨¤k® £o, G¨÷£õx ©zv¯ ¦ÒÎ°¯À 
Aø©¨¦US JxUP¨£mhx? 
(A) 1949 (B) 1957 
(C) 1967 (D) 1977 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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111. ———————— means the cost of using something in a particular
venture is the  benefit forgone by not using in its best alternative
use.  
–––––––––– Gß£x J¸ SÔ¨¤mh öuõÈÀ HuõÁx JßøÓ 
£¯ß£kzxÁuØPõÚ ö\»Ä, AuøÚ ]Ó¢u ©õØÖ ÁÈPÎÀ 
£¯ß£kzuõø©°ÚõÀ HØ£k® |ßø© BS®. 

(A) Incremental cost (B) Marginal cost 

 TkuÀ ö\»Ä  ÂÎ®¦ {ø» ö\»Ä 

(C) Alternative cost (D) Opportunity cost 
 ©õØÖ ö\»Ä  Áõ´¨¦a ö\»Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

112. Which of the following statements are true about cost-volume-profit 
analysis? 
ö\»Ä öuõSv C»õ£ £S¨£õ´Ä £ØÔ ¤ßÁ¸® TØÖPÎÀ Gx Esø©? 

(1) Stocks are valued at market place price 
 \μUSPÒ \¢øu ChÂø»°À ©v¨¤h¨£kQÓx 

(2) Costs can be classified into fixed and variable elements  
 ö\»ÁõÚx {ø»¯õÚ ©ØÖ® ©õÖ£hU Ti¯ TÖPÍõP ¤›UP»õ® 

(3) Costs and revenues are influenced only by volume  
 ö\»Ä ©ØÖ® Á¸Áõ´, AÍÂÚõÀ ©mk® £õvUP¨£kQÓx 

(A) (2) and (3) are correct (B) (1) only correct 

 (2) ©ØÖ® (3) \›¯õÚøÁ  (1) ©mk® \›¯õÚx 

(C) (1) and (3) are correct (D) (1) and (2) are correct  
 (1) ©ØÖ® (3) \›¯õÚøÁ  (1) ©ØÖ® (2) \›¯õÚøÁ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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113. Find out variable cost  
©õÔ ö\»Ä Psk¤iUP : 

Sales Rs. 4,00,000 
ÂØ£øÚ = ¹. 4,00,000 
P/V ratio = 25% 
C»õ£ AÍÄ ÂQu® = 25% 

(A) Rs. 1,00,000 (B) Rs. 3,00,000 

 ¹. 1,00,000  ¹. 3,00,000 

(C) Rs. 5,00,000 (D) Rs. 2,00,000 
 ¹. 5,00,000  ¹. 2,00,000 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

114. Absorption costing takes into account  
EÔg_uÀ ö\»Ä PnUQÀ GkzxU öPõÒÍ¨£kuÀ Gß£x 

(A) Total cost (B) Fixed cost 

 ö©õzu ö\»Ä  {ø»¯õÚ ö\»Ä 

(C) Variable cost (D) Works cost 
 ©õÖ£k® ö\»Ä  ÷Áø» ö\»Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



385 – Business Administration 
 

68

115. Producer’s equilibrium will be achieved at a point where  
EØ£zv¯õÍºPÎß \©{ø» G¢u ¦ÒÎ°À Aøh¯ ÷|›k® 

(A) MRTS > Price ratio  

 MRTS > Âø» ÂQu®   

(B) MRTS < Price ratio 
 MRTS < Âø» ÂQu® 

(C) MRTS = Price ratio   
 MRTS = Âø» ÂQu®  

(D) Slopes of isoquant and isocost line are different 
 \©ÁÍÄ ©ØÖ® \©ÁõUPÂø» \›ÄPÒ öÁÆ÷ÁÖ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

116. According to this theory, there is a long-run equilibrium of economic 
profit, which is zero adjusted for risk  
—————— ÷Põm£õmiß £i, }sh Põ» ö£õ¸Íõuõμ ö£õx \©{ø», 
Ch¸US \© \› ö\´¯¨£mk EÒÍx. 

(A) Innovation theory (B) Risk-Bearing theory 

 ¦xø© ÷Põm£õk  Chº uõ[S® ÷Põm£õk 

(C) Monopoly theory (D) Friction theory 
 uÛ²›ø© ÷Põm£õk  ¤ßÚ® ÷Põm£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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117. Manager’s utility is a function of all except which of the following?  
÷©»õÍ›ß £¯ß£õhõÚx ¤ßÁ¸ÚÁØÔÀ GøuzuÂμ ©ØÓÁØÔß 
ö\¯À£õhõS®? 

(A) Salary of a manager (B) Actual profit 

 J¸ ÷©»õÍ›ß Fv¯®  Esø©¯õÚ C»õ£® 

(C) Discretionary profit (D) Discretionary investment  
 uÛ¨£mh C»õ£®  uÛ¨£mh •u½k 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

118. The fundamental problem faced by an Economy is one of  
ö£õ¸Íõuõμ® GvºöPõÒÐ® Ai¨£øh ¤μa\øÚ JßÖ 

(A) Exchange  
 £›©õØÓ®  

(B) Decision making by the government  
 Aμ\õ[PzuõÀ •iöÁk¨£x   

(C) Economic welfare 
 ö£õ¸Íõuõμ |»ß  

(D) Scarcity of Resources and multiplicity of wants  
 ÁÍ[PÎß £ØÓõUSøÓ ©ØÖ® £» ÷uøÁPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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119. Match the following type : 
Match correctly the definition of economics with their corresponding 
author's : 
¤ßÁ¸ÚÁØøÓ \›¯õP ö£õ¸zuÄ®  

ö£õ¸Íõuõμ C»UPnzøu Auß ¡»õ]›¯¸hß \›¯õP ö£õ¸zuÄ®:  
(a) Wealth Definition   1. Lionel Robbins 
 ö\ÀÁ® C»UPn®    ¼÷¯õÚÀ μõ¤ßì 
(b) Welfare Definition   2. Adam Smith  
 |»ß C»UPn®    Bh® ìªz 
(c) Scarcity Definition   3. Paul A Samuelson  
 £ØÓõUSøÓ C»UPn®   £õÀ H \õ•À\ß 
(d) Growth and Development 4. Alfred Marshall  
 Definition 
 ÁÍºa] ©ØÖ® •ß÷ÚØÓ®  BÀ¤μm ©õºåÀ 
 C»UPn®     

 (a) (b) (c) (d) 
(A)  1  4  2  3 
(B)  2  3  4  1  
(C)  2  4  1  3 
(D)  3  1  2  4  
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

120. The individual division, department or product is called  
uÛ¨£mh ¤›Ä, xøÓ AÀ»x ö£õ¸Ò GÆÁõÖ AøÇUP¨£k®? 

(A) Market  (B) Sector 

 \¢øu  xøÓ 

(C) Branch (D) Organisation 
 QøÍ  Aø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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121. In a planned or command economy, all the economic decisions are
taken by the 
vmhªh¨£mh AÀ»x PmhøÍ¨ ö£õ¸ÍõuõμzvÀ AøÚzx ö£õ¸Íõuõμ 
•iÄPøÍ Gk¨£x 

(A) Consumer (B) Worker 

 ~Pº÷Áõº  öuõÈ»õÎ 

(C) Government   (D) Voters  
 Aμ\õ[P®  ÁõUPõÍºPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

122. Which of the following is true regarding complementary goods? 
£›_ ö£õ¸mPÒ öuõhº£õP ¤ßÁ¸ÁÚÁØÔÀ Gx Esø©? 

(A) Fall in price of one results in increase in demand for other 
goods  

 JßÔß Âø» SøÓÁuõÀ ©ØÓ ö£õ¸mPÐUPõÚ ÷uøÁ 
AvP›UQßÓx 

(B) Fall in price of one results in decrease in demand for other 
goods 

 JßÔß Âø» SøÓÁuõÀ ©ØÓ ö£õ¸mPÐUPõÚ ÷uøÁ SøÓQÓx  

(C) Raise in price of one results in increase in demand for other 
goods 

 JßÔß Âø» E¯ºÁõÀ ©ØÓ ö£õ¸mPÐUPõÚ ÷uøÁ AvP›UQÓx 

(D) Individual products are priced differently  
 uÛ¨£mh ö£õ¸mPÎß Âø» ÷ÁÖ£hõx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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123. The three levels of E-HRM are, 
ªßÚq ©Ûu ÁÍ ÷©»õsø©°ß ‰ßÖ {ø»PÒ 

(a) Operational, Relational and Transformational  
 ö\¯À£õmk, öuõhº¦øh¯, ©õØÓzuUP 

(b) Globalisation, Restructure and Operational 
 E»P©¯©õUPÀ, ©ÖPmhø©¨¦, ö\¯À£õmk  

(c) Globalisation, Operational, Relational  
 E»P©¯©õUPÀ, ö\¯À£õmk, öuõhº¦øh¯  

(d) Globalisation, Transformational and Relational   
 E»P©¯©õUPÀ, ©õØÓzuUP, öuõhº¦øh¯  

(A) (a) and (b) (B) Only (b) 

 (a) ©ØÖ® (b)  (b) ©mk® 

(C) Only (a) (D) Only (c) 
 (a) ©mk®  (c) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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124. Which of the following are the techniques used to improve the
quality work life in an organisation? 
¤ßÁ¸ÁÚÁØÔÀ GøÁ J¸ {ÖÁÚzvÀ uμ©õÚ £o ÁõÌUøPø¯ 
÷©®£kzu¨ £¯ß£kzu¨£k® ~m£[PÍõS®? 

(1) Career development 
 öuõÈÀ ÁÍºa] 
(2) Man power planning 
 ©Ûu \Uv vmhªhÀ 
(3) Participative management 
 £[÷PØ¦ ÷©»õsø© 
(4) Performance appraisal  
 ö\¯ÀvÓß ©v¨¤kuÀ 

(A) (1) and (3) (B) (1) and (2) 

 (1) ©ØÖ® (3)  (1) ©ØÖ® (2) 

(C) (2) and (3) (D) (2) and (4) 
 (2) ©ØÖ® (3)  (2) ©ØÖ® (4) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

125. ———————— is the basis for job description and job specification. 
—————— Gß£x ÷Áø» ÂÍUP® ©ØÖ® ÷Áø» ÂÁμUSÔ¨¤ØS 
Ai¨£øh¯õP C¸UQÓx 

(A) Job analysis  (B) Job training 

 ÷Áø» £S¨£õ´Ä  ÷Áø» £°Ø] 

(C) Job evaluation (D) Job time 
 ÷Áø» ©v¨¥k  ÷Áø» ÷|μ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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126. ——————— is an anatomy of job explaining the activities within
a job. 
——————— Gß£x J¸ ÷Áø»°À EÒÍh[Q¯ |hÁiUøPPÎß 
EmTÖPøÍ £ØÔ ÂÍUSÁuõS®. 

(A) Office note (B) Job evaluation 

 A¾Á»P SÔ¨¦  ÷Áø» ©v¨¥k 

(C) Job card (D) Job analysis  
 ÷Áø» Amøh  ÷Áø» £S¨£õ´Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

127. Why the company has to provide training to their employees? 
{ÖÁÚ©õÚx u[PÍx £o¯õÍºPÐUS GuØPõP £°Ø] AÎUP ÷Ásk®?

(A) Increase Loyalty (B) Increase Morale 

 Â_Áõ\zøu AvP›UP  ©ÚEÖv AvP›UP 

(C) Increase Supervision (D) To Increase the budget  
 ÷©Ø£õºøÁø¯ AvP›UP  ö£õURmøh AvP›UP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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128. What are the hints outlined to show that training is necessary for
employees? 
RÌUPshÁØÖÒ Gx £o¯õÍºPÒ £°Ø]°ß •UQ¯zxÁzøu 
EnºzxQÓx? 

(A) Interview with Union  

 öuõÈØ\[Pzxhß ÷|ºPõnÀ   

(B) Job skills 
 ÷Áø» vÓßPÒ 

(C) Accidents and Excessive scrap  
 Â£zxPÒ ©ØÖ® AvP¨£i¯õÚ ìQμõ¨  

(D) Over protective to employers  
 FÈ¯ºPÐUS AvP £õxPõ¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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129. Assertion [A] : A job description defines what the job is and it is a
profile of the job. 

TØÖ [A] :    ÷Áø» ÂÁμ® Gß£x ÷Áø»ø¯ £ØÔ¯ ÂÁμ[PÒ
EÒÍhUP®    

Reason [R] :  A job specification describes what the job demands
of employees who do it and the human skills that
are required.  

Põμn® [R] :  ÷Áø» ÂÁμUSÔ¨¦ Gß£x J¸ ÷Áø»ø¯
ö\´¯UTi¯ FÈ¯ºPÐUS ÷uøÁ¯õÚ vÓßPøÍ
Gkzxøμ¨£x 

(A) Assertion [A] and Reason [R] both are true 

 TØÖ [A]  ©ØÖ® Põμn® [R] BQ¯ Cμsk® Esø© 

(B) Assertion [A] is true, but Reason [R] is not true 

 TØÖ [A]  \› BÚõÀ Põμn® [R] \› CÀø» 

(C) Assertion [A] is not true but Reason [R] is true 

 TØÖ [A]  \› CÀø» BÚõÀ Põμn® [R] \› 

(D) Assertion [A] is only true 

 TØÖ [A]  ©mk® \› 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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130. A list of a job’s duties, responsibilities, reporting relationships,
working conditions and supervisory responsibilities is termed as   
J¸ ÷Áø»°ß Phø©PÒ, ö£õÖ¨¦PÒ, EÓÄPøÍ¨ £ØÔ AÔUøP¯ÎzuÀ, 
£o{ø»ø©PÒ ©ØÖ® ÷©Ø£õºøÁ¨ ö£õÖ¨¦PÒ BQ¯ÁØÔß £mi¯À 
—————— GÚU SÔ¨¤h¨£kQÓx. 

(A) Job specification (B) Job Analysis  
 ÷Áø» Â£μUSÔ¨¦  ÷Áø» £S¨£õ´Ä 

(C) Job Description  (D) Job Identification 
 ÷Áø» ÂÍUP®  ÷Áø» Psk¤i¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

131. PAQ - refers to  
PAQ &Gß£x 

(A) Position Analysis Questionnaire   

 {ø» £S¨£õ´Ä ÂÚõuõÒ   

(B) Permanent Amount Questionnaire 
 {μ¢uμ öuõøP ÂÚõuõÒ 

(C) People Account Questionnaire  
 ©UPÒ PnUS ÂÚõuõÒ  

(D) Place Amount Questionnaire  
 Ch® öuõøP ÂÚõuõÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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132. Training in an environment which is very similar to the real 
environment  
_________ Esø©¯õÚ £o`Ç¼À £°Ø] AÎ¨£x ÷£õßÓx. 

(A) Apprenticeship  (B) Vestibule  
 £o¨£°Ø]  CøhPÈ¨ £°Ø] 

(C) Classroom (D) MBO 
 ÁS¨£øÓ  SÔU÷PõÒPÍõÀ ÷©»õsø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

133. An attempt to determine and compare demands which the normal 
performance of a particular job makes on normal workers without
taking into account the individual abilities or performance of the
workers concerned. So it is known as  
J¸ SÔ¨¤mh ÷Áø»°ß C¯À£õÚ ö\¯ÀvÓß, öuõÈ»õÍºPÎß 
uÛ¨£mh vÓßPÒ AÀ»x ö\¯ÀvÓß BQ¯ÁØøÓU PnUQÀ GkzxU 
öPõÒÍõ©À, \õuõμn öuõÈ»õÍºPÐUS HØ£k® ÷Põ›UøPPøÍz 
wº©õÛ¨£uØS® J¨¤kÁuØS® J¸•¯Ø]. GÚ÷Á Cx _________ GÚ 
AøÇUP¨£kQÓx. 

(A) Job satisfaction (B) Job analysis 

 ÷Áø» v¸¨v  ÷Áø» £S¨£õ´Ä 

(C) Job dissatisfaction (D) Job Evaluation 
 ÷Áø»°À Av¸¨v  ÷Áø» ©v¨¥k 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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134. Which of the following test is used to ensure accuracy of the
information given in the applications? 
¤ßÁ¸ÁÚÁØÔÀ G¢u ÷\õuøÚ •øÓ°À Âsn¨£zvÀ 
öPõkUP¨£mkÒÍ uPÁÀPøÍ xÀ¼¯©õP \›£õºUP •i²®. 

(A) Graphology test (B) Polygraph test  
 Áøμ£hÂ¯À ÷\õuøÚ  £õ¼QμõL¨ ÷\õuøÚ 

(C) Ability test (D) Aptitude test  
 vÓß ÷\õuøÚ  B¨im³m öhìm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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135. Assertion [A] : Job evaluation facilities framing a suitable
incentive system for workers. 

TØÖ [A]   :  £o ©v¨¥k öuõÈ»õÍºPÐUS ö£õ¸zu©õÚ
FUPzöuõøP •øÓø¯¨ £°ØÖÂUP EuÄQÓx.  

Reason [R]  : Incentives can be rationally base on timesaving by
workers on a particular job, which can rightly be
known from job evaluation. 

Põμn® [R]  : J¸ SÔ¨¤mh £o°À EÒÍ öuõÈ»õÍºPÎß 
÷|μzøua ÷\ª¨£uß Ai¨£øh°À FUPzöuõøP 
£SzuÔÄ Ai¨£øh°À C¸UP •i²®. Cx £o
©v¨¥mk •øÓ°À C¸¢x \›¯õP AÔ¯¨£kQÓx. 

(A) Both [A] and [R] are true and [R] is the correct explanation 
of [A] 

 [A] ©ØÖ® [R] BQ¯ Cμsk® \› ©ØÖ® [R] Gß£x [A] °ß \›¯õÚ 
ÂÍUP® 

(B) Both [A] and [R] are true, but [R] is not the correct explanation 
of [A] 

 [A] ©ØÖ® [R] BQ¯ Cμsk® \› BÚõÀ [R] Gß£x [A] °ß 
\›¯õÚ ÂÍUP® CÀø» 

(C) [A] is true, [R] is false 

 [A] \› [R] uÁÖ 

(D) [A] is false, [R] is true 

 [A] uÁÖ [R] \› 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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136. Mc Gehee and Thayer recommended which of the following three
tier approach to determine the training needs? 
Mc Gehee ©ØÖ® uõ¯º £°Ø]z ÷uøÁPøÍz wº©õÛUP ¤ßÁ¸® ‰ßÖ 
AkUS AqS•øÓPÎÀ Gøu¨ £›¢xøμzuõºPÒ? 

(1) Organisational Analysis 
 {ÖÁÚ £S¨£õ´Ä 

(2) Skills Analysis 
 vÓß £S¨£õ´Ä 

(3) Operational Structure Analysis 
 ö\¯À£õmk Pmhø©¨¦ £S¨£õ´Ä 

(4) Inventory Analysis 
 \μUS £S¨£õ´Ä 

(5) Manpower Analysis  
 ©ÛuÁÍ £S¨£õ´Ä 

 Select the correct answer using the codes given below, 
 R÷Ç öPõkUP¨£mkÒÍ SÔ±kPøÍ¨ £¯ß£kzv \›¯õÚ £vø»z 

÷uº¢öukUPÄ®. 

(A) (1), (2), (3) (B) (1), (3), (5) 

 (1), (2), (3)  (1), (3), (5) 

(C) Both (1) and (3) (D) Only (2) 
 (1) ©ØÖ® (3)  (2) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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137. Job analysis involves  
‘÷Áø» £S¨£õ´Ä’ CÀ EÒÍh[Q¯x 

(A) Job description and Job specification  

 ÷Áø» ÂÁμ® ©ØÖ® ÷Áø» ÂÁμU SÔ¨¦   

(B) Job order and Job description 
 ÷Áø» EzuμÄ ©ØÖ® ÷Áø» ÂÁμ® 

(C) Job specification and Job order  
 ÷Áø» ÂÁμUSÔ¨¦ ©ØÖ® ÷Áø» EzuμÄ  

(D) Job satisfaction and Job description   
 ÷Áø» v¸¨v ©ØÖ® ÷Áø» ÂÁμ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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138. Match correctly the Act and Year of implementation 
\›¯õÚøu ö£õ¸zxP, \mhzøu²® Ax C¯ØÓ¨£mh AÀ»x
öPõskÁμ¨£mh Bsøh²®: 
(a) Child labour Act   1. 1948  
 SÇ¢øu öuõÈ»õÍº \mh®  1948 
(b) Employment Exchange Act 2. 1961  
 ÷Áø»Áõ´¨¦ \mh®    1961 
(c) The Apprentices Act  3. 1959  
 £°Ø]¯õÍº \mh®    1959 
(d) Factories Act   4. 1986  
 öuõÈØ\õø» \mh®    1986 

 (a) (b) (c) (d) 
(A) 4 3 2 1             
(B) 2 1 3 4 
(C)  3 2 1 4  
(D)  1 3 2 4  
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

139. If the pay of an employee is Rs. 13,000 and the midpoint of the pay
range of employees is Rs. 15,000. What is Compa-ratio? 
J¸ {ÖÁÚzvÀ £o¦›²® £o¯õÍ›ß \®£Í® ¹.13,000/& BSö©ÛÀ, 
A¢u {ÖÁÚzvß ö©õzu £o¯õÍºPÎß \®£Ízvß Cøh°À 

¹. 15,000/&C¸US® £m\zvÀ, Compa-ratio GßÚ? 

(A) 8.66 (B) 86.66 

(C) 186.66 (D) 87.66 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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140. The main objective of Human Resource Management is to ensure
the availability of ———————— for ———————— at 
————————. 
©ÛuÁÍ ÷©»õsø©°ß •UQ¯ ÷|õUP©õP C¸¨£x _________, _________
US _________ À QøhUPö\´Áøu EÖv ö\´Á÷u BS®. 

(A) Right People, Right Bus, Right Time 

 \›¯õÚ |£º, \›¯õÚ ÷£¸¢x, \›¯õÚ ÷|μ®   

(B) Right Money, Right Goods, Right place 
 \›¯õÚ £n®, \›¯õÚ ö£õ¸Ò, \›¯õÚ Ch® 

(C) Right People, Right Job, Right Time   
 \›¯õÚ |£º, \›¯õÚ ÷Áø», \›¯õÚ ÷|μzvÀ  

(D) Right Product, Right Price, Right Sales   
 \›¯õÚ ö£õ¸Ò, \›¯õÚ Âø», \›¯õÚ ÂØ£øÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

141. Why we have to reduce the rate of people attrition in case of mergers
and acquisition? 
Cøn¨¦® øP¯P¨£kzu¾® |h¢u {ÖÁÚ[PÎÀ £o¯õÍºPÒ 
SøÓÁøu/öÁÎ÷¯ÖÁøu ukUP AÀ»x SøÓUP •¯Ø]UP ÷Ásk® 
GuÚõÀ? 

(A) To ascertain positive culture  

 ÷|º©øÓ ÷Áø» P»õa\õμzøu EÖvö\´¯   

(B) To get good fame 
 ¦PÌö£Ó 

(C) To increase the goodwill   
 {ÖÁÚzvß |ß©v¨¦ AvP¨£kzu  

(D) To prove the credibility   
 |®£Pzußø©ø¯ Aøh¯ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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142. ———————— is a manager who is authorized to direct the work
of subordinates and is responsible for accomplishing the
organisation’s tasks.  
_________ Gß£Áº RÌ{ø» AvPõ›PÎß £oø¯ C¯USÁuØS A[RPõμ® 
ö£ØÓ J¸ ÷©»õÍº ©ØÖ® {ÖÁÚzvß £oPøÍ {øÓ÷ÁØÖÁuØS 
ö£õÖ¨£õÚÁº. 

(A) Staff manager  

 £o¯õÍº ÷©»õÍº   

(B) Functional manager 
 ö\¯À£õmk ÷©»õÍº 

(C) Human Resource Development Specialist   
 ©ÛuÁÍ ÷©®£õmk {¦nº  

(D) Line Manager   
 Á› ÷©»õÍº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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143. Assertion [A]  : Human Resource Planning helps to forecast
personnel requirement. 

Á¼²ÖzxuÀ [A] :  ©ÛuÁÍ vmhªhÀ £o¯õÍºPÎß ÷uøÁø¯
PoUP EuÄQÓx.    

Reason [R]   : Human Resource Planning is backward looking.

Põμn® [R]   : ©ÛuÁÍ vmhªhÀ Gß£x ¤ßu[Q¯ £õºøÁ
BS®. 

(A) Both [A] and [R] are true and [R] is the correct explanation 
of [A] 

 [A], [R] Cμsk® \›, ©ØÖ® [R] Gß£x [A] ß \›¯õÚ ÂÍUP®  

(B) Both [A] and [R] are true but [R] is not the correct explanation 
of [A] 

 [A], [R] Cμsk® \› BÚõÀ [R]  Gß£x [A] ß \›¯õÚ ÂÍUP® 
AÀ» 

(C) [A] is true but [R] is false 

 [A] \› BÚõÀ [R] uÁÖ 

(D) [A] is false but [R] is true 

 [A] uÁÖ BÚõÀ [R] \› 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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144. The card which shows the number of rejected products from total
quantity produced is  
EØ£zv ö\´¯¨£mh ö©õzu AÍÂ¼¸¢x {μõP›UP¨£mh ö£õ¸mPÎß 
GsoUøPø¯ Põmk® Amøh GßÚöÁßÖ AøÇUP¨£kQßÓx 

(A) Quality control card (B) Inspection card 

 uμU Pmk¨£õmk Amøh  B´ÄUSm£mh Amøh 

(C) Rejection card (D) Dispatch card 
 {μõP›¨¦USm£mh Amøh  AÝ¨¦® Amøh 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

145. The headquarters of the Indian Organisation Bureau of Indian
Standard (BIS) is based in  
C¢v¯ uμ{ø» C¢v¯ Aø©¨¦ £o¯Pzvß (BIS) uø»ø©¯P® _________
Ai¨£øh¯õP öPõshx. 

(A) Hyderabad (B) Chennai  
 øíuμõ£õz  ö\ßøÚ 

(C) New Delhi  (D) Kolkata  
 ¦x öhÀ¼  öPõÀPzuõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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146. Match the following  : 
RÌUPshÁØøÓ ö£õ¸zxP : 
 List I    List II 
 £mi¯À I   £mi¯À II 
 (ISO certifications)   (Field) 
 (ISO \õßÔuÌPÒ)   (PÍ®) 
(a) ISO 9003  1. Testing 
 ISO 9003   ÷\õuøÚ 
(b) ISO 14001  2. Environment  
 ISO 14001   `ÇÀ (_ØÖa`ÇÀ) 
(c) ISO 9000  3. Guidelines for selection  
 ISO 9000   ÷uºÄUPõÚ ÁÈPõmkuÀPÒ 
(d) ISO 9002  4. Quality assurance in production 
 ISO 9002   EØ£zv°À uμ EzuμÁõu® 

(e) ISO 9001  5. Production 
 ISO 9001    EØ£zv 

 (a) (b) (c) (d) (e) 
(A) 1 3 2 4   5             
(B) 1 2 3 4   5 
(C)  4 2 5 1   3 
(D)  5 3 1 2   4 
(E)  Answer not known 
 Âøh öu›¯ÂÀø» 



   385 – Business Administration 
  [Turn over 

89

147. ———————— does not belong to quality management principles.
–––––––––– uμ ÷©»õsø©U öPõÒøPPÐUSa ö\õ¢u©õÚx AÀ». 

(A) Top management driven project  

 E¯º {ºÁõPzuõÀ C¯UP¨£k® vmh®   

(B) Customer focused product design and evaluation 
 ÁõiUøP¯õÍºPøÍ ø©¯©õPU öPõsh u¯õ›¨¦ 

(C) Aimed as continuous improvement  
 öuõhºa]¯õÚ •ß÷ÚØÓzøu ÷|õUP©õPU öPõshx  

(D) Internal lean practices   
 AP ö©¼¢u |øh•øÓPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

148. An inventory control model that specifies inventory is ordered at the
end of a predetermined time period is called  
•ßÚ÷μ wº©õÛUP¨£mh Põ»zvß •iÂÀ \μUSPøÍU SÔ¨¤k® J¸ 
\μUSU Pmk¨£õmk ©õv› –––––––––– GÚ AøÇUP¨£kQÓx. 

(A) Fixed-time period model  

 {ø»¯õÚ Põ»Pmh® ©õv›   

(B) Fixed-order quantity model 
 {ø»¯õÚ EzuμÄ AÍÄ ©õv› 

(C) Independent demand model  
 uÛzxÁ©õÚ ÷uøÁ ©õv›  

(D) Dependent demand model  
 \õº¦ ÷uøÁ ©õv› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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149. ———————— chart is variable control chart. 
–––––––––– ÂÍUP¨£h® ©õÖ® Pmk¨£õmk ÂÍUP¨£h®. 

(A) C-chart  (B) R-chart 

 C-ÂÍUP¨£h®  R-ÂÍUP¨£h® 

(C) P-chart (D) NP-chart 
 P-ÂÍUP¨£h®  NP-ÂÍUP¨£h® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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150. Which of the following statements are wrong with regard to 
ISO 9000? 
ISO 9000 öuõhº£õÚ ¤ßÁ¸® AÔUøPPÎÀ GøÁ uÁÓõÚøÁ? 

(1) ISO 9000 series is a system standard not a product quality 
standard 

 ISO 9000 öuõhº Gß£x J¸ ]ìh® ìhõshºk £ØÔ¯x u¯õ›¨¦ 
uμ{ø» £ØÔ¯x AÀ» 

(2) ISO 9000 is valid for four years 

 ISO 9000, 4 BskPÐUS ö\À¾£i¯õS®. 

(3) ISO certification lead to cost reductions in warranty work, 
repairs etc 

 ISO \õßÔuÇõÚx EzvμÁõu ÷Áø» £Êx £õºzuÀ ÷£õßÓÁØÔÀ 
ö\»Ä SøÓ¨¦PÐUS ÁÈÁSUQÓx. 

(4) ISO is the acronym for internal standardisation organisation 

 ISO Gß£x EÒ uμ¨£kzuÀ Aø©¨¤ß _¸UP©õS®. 

(A) (2) and (4) (B) (3) and (4) 

 (2) ©ØÖ® (4)  (3) ©ØÖ® (4) 

(C) (1) and (2) (D) (2) and (3) 
 (1) ©ØÖ® (2)  (2) ©ØÖ® (3) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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151. Quality planning roadmap was evolved by  
AÍÄ vmhªhÀ Áøμ£h® –––––––––– Psk¤iUP¨£mhx. 

(A) Deming (B) Ishikawa 

 öhª[  CæPõÁõ 

(C) Juran (D) Feigenbaum  
 áúμõß  Lö£´öáß£õL® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

152. In total quality management which one is traditional thinking of the
following statement: 
ö©õzu uμ ÷©»õsø©°À, Gx ¤ßÁ¸® £õμ®£›¯ ]¢uøÚø¯ \õº¢ux 

(A) Products meet specifications. Focus on post production 
Inspection. 

 £õμ®£›¯ ]¢uøÚ ©ØÖ® ö©õzu uμ ÷©»õsø© J¨¤kuÀ 

(B) Gradual but continuous improvement of each function. 
 £i£i¯õÚ ©ØÖ® öuõhºa]¯õÚ £oPÒ JÆöÁõ¸ {ø»°¾® 

(C) No tolerance for errors. 
 uÁÖPÐUS \Q¨¦ußø© CÀø» 

(D) Do it right the first time and every time. 
 •uÀ•øÓ²® JÆöÁõ¸ {ø»°¾® \›¯õP ö\´¯ ÷Ásk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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153. In VED Analysis, the letter D stands for 
VED – £S¨£õ´ÂÀ D GÚ£kÁx 

(A) Dead stock 
 •h[Q¸¨¦ 

(B) Delayed materials 
 uõ©u©õÚ ‰»¨ö£õ¸mPÒ 

(C) Desirable materials 
 Â¸¨£©õÚ ‰»¨ö£õ¸mPÒ 

(D) Diluted materials 
 }ºzu¨£mh ‰»¨ö£õ¸mPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

154. The time period between placing an order and its receipt in stock is
known as 
J¸ Bºhøμ ÷Ásk® GßÖ {a\¯¨£kzv¯uØS®, A¢u ö£õ¸Ò |©US 
Á¢x ÷\¸ÁuØUS® Cøh¨£mh Põ»zøu GßÚöÁØÖ ö\õÀ÷Áõ® 

(A) Ordering time (B) Normal time 

 Bºhº ö\´²® ÷|μ®  \õuõμn ÷|μ® 

(C) Carrying time (D) Lead time 
 _©¢x ö\À¾® ÷|μ®  •ßÚo ÷|μ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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155. Which of the following precedes the examine step of the Method
Study?  
ö\´•øÓ B´Ä ÷©»õsø©°À RÌÁ¸ÁÚÁØÔÀ Gx Bμõ´uÀ 
PmhzvØS •ß¦ ö\´¯ ÷Ási¯x? 

(A) Develop (B) Record 

 E¸ÁõUSuÀ  £vÄ ö\´uÀ 

(C) Install (D) Maintain 
 {ÖÄuÀ  £μõ©›zuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

156. __________ maintenance is aimed at avoiding breakdown. 
–––––––––– £μõ©›¨¦ •ÔøÁz uÂº¨£øu ÷|õUP©õPU öPõshx. 

(A) Scheduled Maintenance (B) Predictive Maintenance 

 vmhªmh £μõ©›¨¦  •ßÚÔÂ¨¦ £μõ©›¨¦ 

(C) Reactive Maintenance (D) Preventive Maintenance 
 GvºÂøÚ £μõ©›¨¦  uk¨¦ £μõ©›¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

157. Which is not the classification of Production System? 
EØ£zv •øÓ°ß ÁøP¨£õk Gx AÀ»? 

(A) Transformation Production (B) Job-Shop Production 

 E¸©õØÓ® EØ£zv  £o A[Põi EØ£zv 

(C) Batch Production (D) Mass Production 
 öuõSv EØ£zv  ö£¸® EØ£zv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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158. __________ is used for the analysis and designing of work spaces. 
£o°hzøu ÁiÁø©UP ©ØÖ® £S¨£õ´Ä ö\´¯ ––––––––––
£¯ß£kQßÓx. 

(A) Flow diagrams (B) String diagram 

 {PÌÄ Áøμ£h®  \μ Áøμ£h® 

(C) Travel chart (D) Cycle graph 
 £¯n ÂÍUP¨£h®  `ÇØ] Áøμ£h® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

159. The phenomenon of variability magnification as we move from the
customer to the producer in the supply chain is referred to as the
__________. 
Â{÷¯õPa \[Q¼°À ÁõiUøP¯õÍ›hª¸¢x EØ£zv¯õÍ¸US |õ® 
©õÖ®÷£õx ©õÖ£õk E¸¨ö£¸UPzvß J¸ {PÌÄ ––––––––––
SÔ¨¤h¨£kQÓx. 

(A) Efficient supply chain 
 vÓø©¯õÚ Â{÷¯õPa \[Q¼ 

(B) Agile supply chain 
 ÂøμvÓß Â{÷¯õPa \[Q¼ 

(C) Bullwhip effect 
 G¸xa\õmøh¯i ÂøÍÄ 

(D) Mass customization 
 ö£¸©ÍÄ ÁÇUP¨£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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160. In operations and supply chain management, Kaizen is a Japanese
term meaning  
ö\¯À£õkPÒ ©ØÖ® Â{÷¯õPa \[Q¼ ÷©»õsø©°À Kaizen GÝ® 
á¨£õÛ¯a ö\õÀ¼ß ö£õ¸Ò ¯õx? 

(A) Top level quality 
 E¯º {ø» uμ® 

(B) Continuous performance 
 öuõhºa]¯õÚ ö\¯ÀvÓß 

(C) Use of Kaizala App 
 øP\õ»õ ö\¯¼°ß £¯ß£õk 

(D) Change for the better 
 ]Ó¨£õP ©õØÓÄ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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161. Supply chain management generally refers to the process of
ensuring that: 
Â{÷¯õPa \[Q¼ ÷©»õsø© ö£õxÁõP Cøu EÖv ö\´²® 
ö\¯À•øÓø¯U SÔUQÓx. 

(I) The prices paid for the goods are acceptable and in line with 
what the market anticipates.  

 ö£õ¸mPÐUS ö\¾zu¨£k® Âø»PÒ HØÖUöPõÒÍU Ti¯øÁ 
©ØÖ® \¢øu Gvº£õºUS® AÍÂØS HØ£ C¸US®. 

(II) The raw materials satisfy the manufacturing requirements 
that are necessary for the production of the goods. 

 ‰»¨ö£õ¸Ò ö£õ¸mPÎß EØ£zvUS ÷uøÁ¯õÚ EØ£zv 
÷uøÁPøÍ¨ §ºzv ö\´QÓx. 

(III) Reverse logistics. 
 uø»RÌ uÍÁõh[PÒ 
(IV) Improved cost-quality ratio. 
 ÷©®£kzu¨£mh ö\»Ä \©£[S ÂQu® 

(A) (I) only correct 

 (I) ©mk® \›¯õÚx   

(B) (III) and (IV) are correct 

 (III) ©ØÖ® (IV) \›¯õÚx 

(C) (I) and (II) are correct 
 (I) ©ØÖ® (II) \›¯õÚx   

(D) (I) and (IV) are correct 
 (I) ©ØÖ® (IV) \›¯õÚx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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162. __________ may be defined as a branch of engineering which 
provides solutions as to how to optimise various complex processes
(or) systems. 
ö£õÔ°¯¼ß J¸ QøÍ¯õÚ ———— ]UP»õÚ ö\¯À•øÓ (A) 
Aø©¨¦PøÍ ÷©®£kzu wºÄPøÍ ÁÇ[SQßÓx. 

(A) Industrial Engineering (B) Plant Engineering 

 öuõÈÀxøÓ ö£õÔ°¯À  Bø» ö£õÔ°¯À 

(C) Production Control (D) Quality Control 
 EØ£zv Pmk¨£õk  uμ Pmk¨£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

163. The correct order of procedure in method study is 
R÷Ç öPõkUP¨£mkÒÍÁØÔÀ Gx \›¯õÚ £o •øÓ £i¨¦ 
Á›ø\•øÓ£kzuÄ®. 

(A) Select – Record – Examine – Develop – Define – Install –
Maintain 

 ÷uº¢öuk&£vÄ&B´Ä&E¸ÁõUS&Áøμ¯Ö&{ÖÄ&£μõ©›¨¦ 

(B) Select – Define – Examine – Develop – Receive – Install –
Maintain 

 ÷uº¢öuk&Áøμ¯Ö&B´Ä&E¸ÁõUS&ö£ÖuÀ&{ÖÄ&£μõ©›¨¦ 

(C) Select – Record – Develop – Examine – Define – Install –
Maintain 

 ÷uº¢öuk&£vÄ&A¤Â¸zv&÷uºÄ&Áøμ¯Ö&{ÖÄ&£μõ©›¨¦ 

(D) Select – Record – Examine – Define – Develop – Install –
Maintain 

 ÷uº¢öuk&£vÄ&B´Ä&Áøμ¯Ö&A¤Â¸zv&{ÖÄ&£μõ©›¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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164. Match the following: 
RÌUPshÁØøÓ ö£õ¸zxP: 
 List I  List II 
 £mi¯À I   £mi¯À II 
(a) E-Commerce  1. Founder of the World Wide Web
 ªß ÁoP®   E»PÍõÂ¯ Áø»°ß {ÖÁÚº 
(b) FTP   2. Company that offers Internet 

services 
 FTP    Cøn¯ ÷\øÁPøÍ ÁÇ[S® 

{ÖÁÚ® 
(c) Tim Bernes-Lee  3. Host computer connected to the 

Web that contains data in the 
form of web pages 

 i® ö£ºöÚì ½   Áø»¨ £UP[PÎß ÁiÁzvÀ 
uμøÁU öPõsi¸US® 
CønUP¨£mh ÷íõìm PoÛ 

(d) ISP   4. Online Trading 
 ISP    Bßø»ß ÁºzuP® 

(e) Web server  5. A protocol used for exchanging 
files 

 Cøn¯ ÷\øÁ¯P®   ÷Põ¨¦PøÍ £›©õÔUöPõÒÍ 
£¯ß£k® ö|Ô•øÓ 

 (a) (b) (c) (d)   (e) 
(A)  4  5  1  3    2 
(B)  5  4  1  3    2 
(C)  4  5  1  2    3 
(D)  5  4  1  2    3 
(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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165. The Governments and international bodies gradually stepped into
regulate the internet through  
Aμ\õ[P•® \ºÁ÷u\ Aø©¨¦PÐ® £i¨£i¯õP Cøn¯zøu 
JÊ[S£kzxÁvÀ £¯ß£k® \mh®  

(A) Corporate Laws (B) Commercial Laws 

 {ÖÁÚ \mh[PÒ  ÁoP \mh[PÒ 

(C) General Laws (D) Cyber Laws 
 ö£õx \mh[PÒ  Cøn¯ \mh[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

166. ———— is a plastic card with an integrated circuit built in it. 
J¸[Qøn¢u öuõS¨ø£ EÒÍhUQ¯ ¤ÍõìiU Põºk ————
GÚ¨£k®. 

(A) Smart card (B) Debit card 

 ì©õºm Põºk/`miøP Amøh  £ØÖ Amøh/öh¤m Põºk 

(C) Credit card (D) E-money 
 Phß Amøh  C&£n® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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167. Which of the following statements are true with regard to
e-commerce? 
C&Põ©ºì öuõhº£õP ¤ßÁ¸® TØÖPÎÀ GøÁ Esø©¯õÚøÁ? 

(1) It is a best tool for detoriating the inter business functioning. 
 ÁoP[PÐUS Cøh÷¯¯õÚ ö\¯À£õmøh ^ºSø»UP Cx J¸ 

]Ó¢u P¸Â¯õS®. 

(2) It is a solution for office automation and slow business 
transactions. 

 A¾Á»P Bm÷hõ÷©åß ©ØÖ® ö©xÁõÚ ÁoP¨ £›ÁºzuøÚUS 
Cx J¸ wºÁõS®. 

(3) It is a business strategy to cut down the costs by improving the 
quality and speed delivery of goods and services. 

 ö£õ¸mPÒ ©ØÖ® ÷\øÁPÎß uμ® ©ØÖ® ÂøμÁõÚ Â{÷¯õPzøu 
÷©®£kzxÁuß ‰»® ö\»ÄPøÍU SøÓ¨£uØPõÚ ÁoP Ezv Cx.

(4) By using it multiple activities like selling, purchasing etc. can 
be performed. 

 Cøu¨ £¯ß£kzxÁuß ‰»® ÂØ£x, Áõ[SuÀ ÷£õßÓ £» 
ö\¯À£õkPøÍa ö\´¯»õ®.  

(A) (2) and (3) (B) (3) and (4) 

 (2) ©ØÖ® (3)  (3) ©ØÖ® (4) 

(C) (1) and (2) (D) (1) and (4) 
 (1) ©ØÖ® (2)  (1) ©ØÖ® (4) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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168. The following is not the communication tools 
R÷Ç Á¸ÁvÀ Gx uPÁÀ öuõhº¦ \õuÚ® AÀ» 

(A) File transfer protocol (B) E-mail 

 ÷Põ¨¦ £›©õØÓ ö|Ô•øÓ  ªßÚg\À 

(C) Telnet (D) Usenet 
 öhÀö|m  ³ìö|m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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169. Statement [A] : Cloud computing is a style of computing in which
software and in some cases virtualized hardware
resources are provided as a service over the
internet. 

TØÖ [A] :    QÍÄm P®¨³mi[ Gß£x PoÛ°ß J¸ £õo¯õS®.
CvÀ ö©ßö£õ¸Ò ©ØÖ® ]» \¢uº¨£[PÎÀ 
ö©´{PμõUP¨£mh íõºm÷Áº ÁÍ[PÒ Cøn¯zvÀ
÷\øÁ¯õP ÁÇ[P¨£kQßÓÚ. 

Statement [B] : Users need to have knowledge of, expertise in, or
control over the technology infrastructure “In the 
cloud” that supports them. 

TØÖ [B] :  £¯ÚºPÒ AÁºPÐUSz xøn¦›²® EÒPmhø©¨¦
QÍÄm «x {¦nzxÁ® AÀ»x Pmk¨£õk £ØÔ
AÔ¢v¸UP ÷Ásk®. 

(A) [A] and [B] are true 

 [A] ©ØÖ® [B] \›¯õÚx  

(B) [A] and [B] are false  

 [A] ©ØÖ® [B] uÁÓõÚx  

(C) [A] is true, [B] is false 

 [A] \›¯õÚx, [B] uÁÓõÚx  

(D) [A] is false, [B] is true 

 [A] uÁÓõÚx, [B] \›¯õÚx  

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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170. Which is the extraction of hidden predictive information from large
data base? 
ö£›¯ uμÄz uÍzv¼¸¢x ©øÓUP¨£mh •ßPo¨¦z uPÁÀPøÍ¨ 
¤›zöuk¨£x Gx? 

(A) Data mining (B) Data warehouse 

 uμÄa ö\¯»õUP®  uμÄU Qh[S 

(C) Data mart (D) Decision approach 
 uμÄ \¢øu  •iöÁkUS® AqS•øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

171. ———— refer to the distribution of public service as well as
dissemination of information regarding these services among 
common people. 
ö£õx ÷\øÁø¯ Â{÷¯õQzuÀ ©ØÖ® Ax \®£¢u¨£mh ö\´vPøÍ 
£μ¨¦uÀ ———— GÚ¨£k®. 

(A) G2E – E-Commerce (B) B2E – E-Commerce  

 G2E &ªß ÁoP®  B2E -–ªß ÁoP® 

(C) G2C – E-Commerce (D) C2G–E-Commerce 
 G2C -– ªß ÁoP®  C2G –ªß ÁoP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

172. Data entry can be performed with all of the following except. 
RÌÁ¸ÁÚÁØÔÀ GvÀ uμÄ EÒÏk ö\´¯ C¯»õx 

(A) OCR (B) OMR 

(C) COM (D) IVRS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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173. Statement [A] : DSS software packages can combine model 
components to create integrated models that
support specific types of decision. 

AÔUøP [A] :   DSS ö©ßö£õ¸Ò ÷£U÷PäPøÍ, SÔ¨¤mh •iÄ
ÁøPPøÍ Bu›US®, J¸[Qøn¢u ©õv›ø¯
E¸ÁõUP CønUP •i²®. 

Statement [B] : DSS packages are not available in microcomputer
and web-enabled versions. 

AÔUøP [B] :  DSS öuõS¨¦PÒ ø©U÷μõ P®¨³mhº ©ØÖ®
Cøn¯zvÀ C¯UP¨£k® £v¨¦PÎÀ CÀø». 

(A) [A] and [B] are true 

 [A] ©ØÖ® [B] Esø©  

(B) [A] and [B] are false  

 [A] ©ØÖ® [B] uÁÖ 

(C) [A] is true, [B] is false 

 [A] Esø©, [B] uÁÖ  

(D) [A] is false, [B] is true 

 [A] uÁÖ, [B] Esø©  

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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174. A management information system is composed of 
J¸ ÷©»õsø© uPÁÀ Aø©¨¦ ————ø¯U öPõshx. 

(A) Data  
 uPÁÀPÒ 

(B) Software and Hardware 

 ö©ßö£õ¸Ò ©ØÖ® Áßö£õ¸Ò 

(C) Information and people  
 uPÁÀ ©ØÖ® ©UPÒ 

(D) All of the above 
 ÷©÷» EÒÍ AøÚzx®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

175. Choose the incorrect answer from the following: 
Management information system produces reports for managers 
interested in historic trends on a  
¤ßÁ¸ÁÚÁØÔ¼¸¢x uÁÓõÚ £vø»z ÷uº¢öukUPÄ®: 

Áμ»õØÖ¨ ÷£õUSPÎÀ BºÁ•ÒÍ ÷©»õÍºPÐUPõÚ AÔUøPPøÍ 
÷©»õsø©z uPÁÀ Aø©¨¦ u¯õ›UQÓx 

(A) Daily (B) Weekly 

 vÚ\›  Áõμ¢÷uõÖ® 

(C) Monthly (D) Yearly 
 ©õu¢÷uõÖ®  Bsk÷uõÖ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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176. A ____________ is a logical collection of information gathered from 
many different operational databases which are used to create
business analysis activities and decision-making tasks. 
_________ Gß£x £À÷ÁÖ ö\¯À£õmkz uμÄz uÍ[PÎ¼¸¢x 
÷\P›UP¨£mk, ÁoP¨ £S¨£õ´Ä |hÁiUøPPÒ ©ØÖ® •iöÁkUS® 
£oPøÍ E¸ÁõUP¨ £¯ß£k® J¸ uºUPŸv¯õÚ uPÁÀPÎß 
öuõS¨£õS®. 

(A) Data Warehouse (B) Data Mart 

 uμÄUQh[S  uμÄ A[Põi 

(C) Database Administration (D) Data Mining 
 uμÄzuÍ {ºÁõP®  uμÄa _μ[P® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

177. The __________ includes tools that help the End-User of a DSS to 
navigate through the system. 
_________ BÚx iGìGì Cß CÖv¨ £¯Ú¸US PoÛ ÁÈ¯õP ö\À» 
EuÄ® P¸ÂPøÍ EÒÍhUQ¯x. 

(A) User Interface 
 £¯Úº CøhzuÍ® 

(B) Functional Information System  
 ö\¯À£õmk uPÁÀ Aø©¨¦ 

(C) Software as a Service 
 J¸ ÷\øÁ¯õP ö©ßö£õ¸Ò 

(D) Database 
 uμÄzuÍ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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178. A ___________ is a computer system at the management level of an
organisation that combines data, sophisticated analytical tools and
user-friendly software for decision making. 
J¸ _________ Gß£x {ÖÁÚzvß ÷©»õsø© ©mhzvÀ EÒÍ J¸ PoÛ 
Aø©¨£õS®. Cx uμÄ, Av|ÃÚ £S¨£õ´Ä P¸ÂPÒ ©ØÖ® £¯Úº |m¦ 
ö©ßö£õ¸øÍ •iöÁk¨£uØS J¸[QønUQÓx. 

(A) Quality Management System 
 uμ ÷©»õsø© Aø©¨¦ 

(B) Management Information System  
 ÷©»õsø© uPÁÀ Aø©¨¦ 

(C) Decision Support System 
 •iÄ BuμÄ Aø©¨¦ 

(D) Digital Support System 
 Gso¯À BuμÄ Aø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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179. The Decision Support System (DSS) can be based on different
approaches namely. 
•iÄ BuμÄ Aø©¨¦ (•BA) öÁÆ÷ÁÖ AqS•øÓPøÍ 
Ai¨£øh¯õPU öPõshx. 

(I) Behavioural models 
 |hzøu ©õv› 

(II) Management Science models 
 ÷©»õsø© AÔÂ¯À ©õv› 

(III) Operations Research models 
 ö\¯À£õmk Bμõ´a] ©õv› 
(IV) Business Mathematics models  
 ÁoP Pou ©õv› 
(V) Statistical models 
 ¦ÒÎ ÂÁμ ©õv› 

(A) (I), (III) and (V) correct 

 (I), (III) ©ØÖ® (V) \›¯õÚx 

(B) (I), (II) and (III) correct 

 (I), (II) ©ØÖ® (III) \›¯õÚx 

(C) (II), (III) and (IV) correct 
 (II), (III) ©ØÖ® (IV) \›¯õÚx   

(D) (III), (IV) and (V) correct 
 (III), (IV) ©ØÖ® (V) \›¯õÚx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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180. The support more non routine decision making __________. 
ÁÇUP©ØÓ •iÄ Gk¨£uØS öPõkUP¨£k® BuμÄ GÆÁõÖ 
AøÇUP¨£k®? 

(A) Transaction Processing System 
 £›ÁºzuøÚ ö\¯À•øÓ Aø©¨¦ 

(B) Management Information System  
 ÷©»õsø© uPÁÀ Aø©¨¦ 

(C) Decision Support System 
 •iÄ BuμÄ Aø©¨¦ 

(D) Executive Support System 
 {ºÁõQ BuμÄ Aø©¨¦  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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181. Out of the following alternative methods of project evaluation and
selection used in capital budgeting, which one of the combination in
the code corresponded to discounted cash flow method? 
vmh ©v¨¥k ©ØÖ® ÷uºÄUPõÚ ¤ßÁ¸® ©õØÖ •øÓPÎÀ ‰»uÚ ÁμÄ 
ö\»Ä vmhzvÀ £¯ß£kzu¨£k® SÔ±miÀ EÒÍ JßÖ uÒÐ£i 
ö\´¯¨£mh £n¨¦ÇUP •øÓUS Jzv¸UQÓx. 

(1) Internal Rate of Return 
 Cøh{ø» Á¸Áõ´ ÂQu® 

(2) Pay Back Period 
 v¸¨¤ ö\¾zx® Põ»® 

(3) Profitability Index 
 C»õ£z ußø© SÔ±k 
(4) Net Present Value 
 {Pμ uØ÷£õøu¯ ©v¨¦  

(A) (1), (2), (3) (B) (1), (3), (4) 

(C) (2), (3), (4) (D) (1), (2), (3), (4) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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182. Assertion [A] : Business having more risks and unstable income
should prefer equity shares. 

TØÖ [A]   :  AvP A£õ¯[PÒ ©ØÖ® {ø»¯ØÓ Á¸©õÚ® öPõsh
ÁoP[PÒ DUÂmi £[SPøÍ Â¸®£ ÷Ásk®. 

Reason [R]  : Sales stability and debt ratios are directly related.

Põμn® [R]  : ÂØ£øÚ {ø»zußø© ©ØÖ® Phß ÂQu[PÒ
÷|μi¯õP öuõhº¦øh¯øÁ  

(A) Both [A] and [R] are true and [R] explains [A] 

 [A] ©ØÖ® [R] Cμsk® \›¯õÚx ©ØÖ® [R], [A]øÁ ÂÍUSQÓx 

(B) Both [A] and [R] are true and [R] does not explain [A] 

 [A] ©ØÖ® [R] Cμsk® \›¯õÚx [R], [A]øÁ ÂÍUPÂÀø» 

(C) [A] is correct and [R] is false 

 [A] \›¯õÚx ©ØÖ® [R] uÁÓõÚx 

(D) [A] is false and [R] is true 

 [A] uÁÓõÚx ©ØÖ® [R] \›¯õÚx 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 

183. The Cost of Equity earnings is measured by the following equation 
¤ßÁ¸® \©ß£õmiÀ, \õuõμn £[SPÎß Á¸©õÚzøu PnUQh EuÄÁx 
Gx? 

(A) gPDKe += 0  (B) gDPKe += 0
 

(C) PDgKe += 0  (D) DPgKe += 0  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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184. For computation of cost of equity, arrange the following measures in
the ascending order accuracy 
£[S ö\»øÁ PnUQkÁuØS |hÁiUøPPøÍ HÖÁ›ø\°À 
öPõkUP¨£mkÒÍx. AÁØÔÀ \›¯õÚ £vø» ÷uº¢öukUPÄ®. 

(I) Capital asset pricing model 
 ‰»uÚ ö\õzx Âø» ©õv› 

(II) Dividend price ratio 
 £[S Buõ¯® Âø» ÂQu® 

(III) Earning price ratio 
 \®£õvzu Âø» ÂQu® 
(IV) Dividend price plus growth ratio 
 £[S Buõ¯® Âø» ©ØÖ® ÁÍºa] ÂQu® 

(A) (I), (III), (II), (IV) (B) (IV), (I), (III), (II) 

(C) (III), (II), (IV), (I) (D) (II), (IV), (I), (III) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

185. ____________ is a statistically based behavioural approach used
in capital budgeting to get a feel for risk by applying predetermined 
probability distributions and random numbers to estimate risky
outcomes. 
_________ Gß£x A£õ¯Pμ©õÚ ÂøÍÄPøÍ ©v¨¤kÁuØS •ßÚ÷μ 
wº©õÛUP¨£mh {PÌuPÄ £μÁÀPÒ ©ØÖ® ^μØÓ GsPøÍ¨ 
£¯ß£kzxÁuß ‰»® B£zxUPõÚ EnºøÁ¨ ö£ÖÁuØS ‰»uÚ ÁμÄ 
ö\»Ä vmhzvÀ £¯ß£kzu¨£k® ¦ÒÎÂÁμ Ai¨£øh°»õÚ |hzøu 
AqS•øÓ BS®. 

(A) Scenario analysis (B) Statistical analysis 

 {»Áμ¨ £S¨£õ´Ä  ¦ÒÎ°¯À £S¨£õ´Ä 

(C) Simulation (D) Sensitivity analysis 
 E¸ÁP¨£kzxuÀ  EnºvÓß £S¨£õ´Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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186. A Company declared a dividend of  2 per share, market price per 
share is  20, income tax rate is 60% and expected brokerage is to be
2%. Compute cost of retained earnings: 
J¸ {ÖÁÚ® £[QØS 2 ¹£õ´ £[Põuõ¯® AÔÂzxÒÍx. £[Qß \¢øu 
Âø» ¹.20. Á¸©õÚ Á› ÂQu® 60%. uμS & 2%. uUP Á¸Áõ´ ö\»øÁ 
PshÔ¯Ä®. 

(A) 4.2% (B) 4.0% 

(C) 4.1% (D) 4.5% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

187. The term permanent working capital is also termed as __________. 
{μ¢uμ £o ‰»uÚ® _________ GßÖ® AøÇUP¨£kQÓx. 

(A) Floating Capital 
 ¦ÇUP ‰»uÚ® 

(B) Temporary Working Capital  
 uØPõ¼P |øh•øÓ ‰»uÚ® 

(C) Core Current Assets 
 •UQ¯ uØ÷£õøu¯ ö\õzxUPÒ 

(D) Cost of Capital 
 ‰»uÚ ö\»Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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188. The term “Core Current Assets” was coined by 
“•UQ¯ uØ÷£õøu¯ ö\õzx” Gß£øu E¸ÁõUQ¯Áº  

(A) Chore Committee (B) Tandon Committee 

 Chore SÊ  Tandon SÊ 

(C) Jilan's Committee (D) Rangarajan Committee 
 Jilan's SÊ  Rangarajan SÊ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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189. Assertion [A] : The goal of working capital management is to
manage the firm’s current assets and liabilities in 
such a way a satisfactory level of working capital
is maintained. 

TØÖ [A]   :  £o ‰»uÚ {ºÁõPzvß SÔU÷PõÒ |h¨¦ ö\õzxUPÒ 
©ØÖ® ö\¯À£õkPøÍ {ºÁQzuÀ, AzuøP¯ ÷Áø»
‰»uÚzvß v¸¨vPμ©õÚ {ø» £μõ©›UP¨£kÁx
BS®.   

Reason [R]  : If the firm cannot maintain satisfactory level of 
working capital, it is likely to become insolvent
and may even be forced into Bankruptcy. 

Põμn® [R]  : {ÖÁÚzuõÀ £o ‰»uÚzvß v¸¨vPμ©õÚ {ø»ø¯¨
£μõ©›UP •i¯õÂmhõÀ, Ax vÁõ»õQÂk® ©ØÖ®
Pmhõ¯¨£kzu¨£hÄ® Tk® vÁõ»õS® {ø»US. 

(A) [A] is true, [R] is false 

 [A] Esø©, [R] uÁÓõÚx 

(B) [A] and [R] are true  

 [A] ©ØÖ® [R] Esø© 

(C) [A] and [R] are false 

 [A] ©ØÖ® [R] uÁÓõÚx 

(D) [A] is false, [R] is true 

 [A] uÁÓõÚx, [R] Esø© 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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190. The working management policies have a great effect on  
£o ‰»uÚ ÷©»õsø© öPõÒøPPÒ Guß «x ö£Ö® uõUPzøu 
HØ£kzxQßÓÚ 

(A) Firm’s profitability 
 {ÖÁÚzxøh¯ »õ£® 

(B) Profit maximation  
 C»õ£ AvP›¨¦ 

(C) Wealth maximation 
 ö\ÀÁ® AvP›¨¦ 

(D) Gross working capital 
 ö©õzu |øh•øÓ ‰»uÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

191. An investor deposits Rs. 1,00,000 in a bank account for 5 years
at 8 percent interest. The amount which he will have in his account
if the interest is compounded quarterly. 
J¸ •u½mhõÍøμ 8&\uÃu Ámi°À ¹.1,00,000–I Á[Q°À {μ¢uμ 
øÁ¨£õP 5–BskPÐUS øÁUQÓõº. CÁμx PnUQÀ Ámiø¯ 
Põ»õskUS J¸ •øÓ TmiÚõÀ, AÁº PnUQÀ 5–BskPÒ •iÂÀ 
C¸US® öuõøP 

(A) Rs. 1,48,595 (B) Rs. 1,84,955 

 ¹. 1,48,595  ¹. 1,84,955 

(C) Rs. 1,58,590 (D) Rs. 1,45,895 
 ¹. 1,58,590  ¹. 1,45,895 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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192. Arrange the following steps of operating cycle in correct order: 
C¯UP _ÇØ]°À ¤ßÁ¸® £iPøÍ \›¯õÚ Á›ø\°À JÊ[Pø©UPÄ®. 

(1) Conversion of accounts receivables to cash 
 ö£ÓzuUP PnUSPøÍ £n©õP ©õØÖuÀ 

(2) Conversion of work in progress into finished goods. 
 |h¢x öPõsi¸US® ÷Áø»ø¯ •iUP¨£mh ö£õ¸mPÍõP ©õØÖuÀ

(3) Conversion of raw material into work in progress. 
 ‰»¨ö£õ¸øÍ |h¢x öPõsi¸US® ÷Áø»¯õP ©õØÖuÀ 
(4) Conversion of finished goods into accounts receivables. 
 •iUP¨£mh ö£õ¸mPøÍ ÁμÄ PnUSPÍõP ©õØÖuÀ 

(A) (2), (1), (4), (3) (B) (4), (3), (2), (1) 

(C) (3), (2), (4), (1) (D) (1), (4), (3), (2) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

193. ___________ is a document written by a bank stating that the bank
guarantees payment of an invoiced amount. 
___________ Gß£x J¸ Âø»¨£mi¯À öuõøPUS Á[Q EzuμÁõu® 
AÎUS® Á[Q¯õÀ GÊu¨£mh J¸ BÁn©õS®. 

(A) Commercial Paper (B) Letter of Credit 

 ÁoPzuõÒ  PhÝUPõÚ Piu® 

(C) Line of Credit (D) Trade Credit 
 PhÝUPõÚ ÷Põk  ÁºzuPU Phß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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194. It is defined as a location, person or an item of equipment for which 
costs may be ascertained and used for the purpose of control 
Ch®, |£º ©ØÖ® E£Pμnzvß J¸ ö£õ¸Ò «x EÖv ö\´¯¨£k® ö\»Ä 
Pmk¨£õmiØPõÚ £¯ß£kzvUöPõÒÍ»õ® C¢u ø©¯zvÀ 

(A) Operations centre (B) Production centre 

 ö\¯À£õmk ø©¯®  EØ£zv ø©¯® 

(C) Cost centre (D) Process centre 
 ö\»Ä ø©¯®  ö\¯À•øÓ ø©¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

195. __________ means that the value of a unit of money is different in
different periods of time. 
__________ Gß£x £nzvß ©v¨ø£ öÁÆ÷ÁÖ Põ»PmhzvÀ 
©õÖ£õmøh PnUQkÁuõS®. 

(A) Inflation 
 £nÃUP® 

(B) Deflation 
 £nÁõmh® 

(C) Market value 
 \¢øu ©v¨¦ 

(D) Time value of money 
 £nzvß Põ»©v¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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196. Match the following: 
¤ßÁ¸ÁÚÁØøÓ ö£õÖzuÄ®. 
 List I  List II 
 £mi¯À I   £mi¯À II 
(a) Liquidity risk  1. Risk related to purchasing 

power of income 
 £n¦ÇUP B£zx   Á¸©õÚ Áõ[S® vÓß öuõhº£õÚ 
     B£zx 
(b) Business risk  2. Risk related to firms capital 

structure 
 ÁoP B£zx   {ÖÁÚzvß ‰»uÚ Aø©¨¦ 

öuõhº£õÚ B£zx  

(c) Financial risk  3. Risk related to inability to pay 
its due on time 

 {v B£zx   E›¯ ÷|μzvÀ Phß ö\¾zu 
C¯»õø©¯õÀ HØ£k® B£zx 

(d) Inflation risk  4. Risk related to fluctuation in 
profit 

 £nÃUP® B£zx   »õ£zvÀ HØ£k® HØÓCÓUP B£zx

 (a) (b) (c) (d) 
(A)  2  3  4  1 
(B)  1  4  3  2 
(C)  3  2  4  1    
(D)  3  4  2  1 
(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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197. Assuming a loan of Rs.1,00,000 @ 9% to repay in 15 years.
Determine EMI 
J¸ C»m\® ¹£õ´ Phß 9% Ámi°À 15 BskPÎÀ v¸¨¤ ö\¾zu 
÷Ásk®. \©©õÚ ©õuõ¢vμ uÁønø¯ PnUQhÄ®. 

(A) Rs.1,014 (B) Rs.1,104 

 ¹.1,014  ¹.1,104 

(C) Rs.1,114 (D) Rs.1,004 

 ¹.1,114  ¹.1,004 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

198. The profit maximisation is all well considered to be an important
objectives of __________. 
{v ÷©»õsø©°À »õ£zøu AvP¨£kzxuÀ Gß£x J¸ ÷|õUP©õP 
P¸u¨£kQÓx. 

(A) Company management 
 {ÖÁÚ ÷©»õsø© 

(B) Operation management 
 ö\¯À£õkPÒ ÷©»õsø© 

(C) Financial management 
 {v ÷©»õsø© 

(D) Customers management 
 ÁõiUøP¯õÍº ÷©»õsø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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199. The controller function of the financial management concerns with,
__________. 
{v ÷©»õsø©ø¯ Pmk¨£kzx® £o Gß£x RÌPsh GvÀ 
\®£¢u¨£mhx. 

(A) Advertising the public issue of the firm 
 {ÖÁÚzvß ö£õx öÁÎ±møh ÂÍ®£μ¨£kzxuÀ 

(B) Negotiating with banks for loans 
 PhÝUPõÚ Á[QPÐhß ÷£a_Áõºzøu  

(C) Analysing variance between standard costs and actual costs 
 {ø»¯õÚ ö\»Ä ©ØÖ® Esø©¯õÚ ö\»ÄPÐUS Cøh÷¯ EÒÍ 

©õÖ£õmøh £S¨£õ´Ä ö\´uÀ 

(D) Estimating the future cash flows from certain project 
 ]» vmh[PÎÀ C¸¢x GvºPõ» £n¨¦ÇUPzøu ©v¨¤kuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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200. Which of the following statements are true about finance functions?
{v ö\¯À£õkPøÍ¨ £ØÔ¯ ¤ßÁ¸® TØÖPÎÀ GøÁ \›¯õÚøÁ? 

(1) Financial management deals with only two major decisions 
namely investment and decisions. 

 {v ÷©»õsø©¯õÚx •u½k ©ØÖ® •iÄPÒ GÚ Cμsk •UQ¯ 
•iÄPøÍ ©mk÷© øP¯õÐQÓx 

(2) The basic objective of financial management is wealth 
maximisation. 

 {v ÷©»õsø©°ß Ai¨£øh ÷|õUP® ö\ÀÁzøu AvP›¨£uõS® 

(3) Finance function involves procurement and effective 
utilisation of funds. 

 {va ö\¯À£õk Gß£x {vø¯ vμmkuÀ ©ØÖ® vÓ®£h 
£¯ß£kzxuÀ BQ¯ÁØøÓ EÒÍhUQ¯x BS®. 

(4) Capital budgeting refers to the proportion of debt and equity 
capital. 

 ‰»uÚ £möám Gß£x Phß ©ØÖ® £[S ‰»uÚzvß ÂQuzøuU 
SÔUQÓx 

(A) (1) and (3) (B) (2) and (4) 

 (1) ©ØÖ® (3)  (2) ©ØÖ® (4) 

(C) (2) and (3) (D) (3) and (4) 
 (2) ©ØÖ® (3)  (3) ©ØÖ® (4) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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